
CHEMISTRY

BOOKS - CENGAGE CHEMISTRY (HINGLISH)

QUALITATIVE INORGANIC SALT ANALYSIS

Illiustration

1. a.  is yellow in aqueous solution but no passing  gas,

solution rurns green Example.

b.Aqueous solution of , (orange) changes to yellow .can you

explain?

c. Potassium permanganate in purple in colour .On adding KOH, it turn

gases, What is the compound formed?

d. A metailic statue under scis-rain attack turns to blushing -green colour

.What can be the probable metal and salt formed ? 

FeCI3 H2S

K2Cr2O

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vRUiA8HBr7hU


e. Oil painting turn blackish ater some time , What is the salt formed ?

Assumeoil point contains 

View Text Solution

Pb2 +

2. Idenity (A),(B) and (c ) 

 brown colour vapour turning (KI + statuck )paper

blue 

gas 


(gas)  (gas, but liquid aty room temperature) 

b.  and  both turn line water mily how will you detect the

present if turn both are present in a mixture ? 

c.  has water and  is any divalent anion ) in 

 ratio by weight  solution green idenlity (A) unit

explain reaction 

d. ,(Black)  (light green colour

solution ). Gas (B) turns lead actate leat acetre paper black .What are (A) ,

(B) and (C ) ?

View Text Solution

A + diiH2SO4 →

A + NaOH
Δ

NH3

(A)
Δ

−−→ (B) +(C)

CO2 SO2

(A), (M2X.7H2O) M2X(M

1.1 K2Cr2PO3H
Θ

(A) +dil. H2SO4 → (B)(gas) + (C)

https://dl.doubtnut.com/l/_vRUiA8HBr7hU
https://dl.doubtnut.com/l/_jKYeUG0KSdks


3. a. Arrange  and  is the increasing order of

solubility in water 

b.  interferes to the icing Test of  suggest a chemical method

of removed burned with a blue flame initial but is put off uinstandly even

as gas appear coming Example.

c. While testing oxalate, gas obtained burns with a blue flame intially but

is put off instantly even as gas appears coming. Explain. d.  also

interfere in the 'Ring Test' of  suggest a chemical reagent that

removed 


e. Colourless of  (B) gas  gas aquens solution of (c ) turn

rest litrman blue , aquerous solution of (A) and (B) also give while ppt ,

with  solution souble in aqneous solution of (C ) identify (A) ,(B)

and (C ) 

f. Can youy defect  and  by layer if present together ?

View Text Solution

AgF , AgCI, AgBr AgI

NOΘ
2 NOΘ

3

I Θ

NOΘ
3

I Θ

(A)
Δ

−−→ +(C)

AgNO3

BrΘ I Θ

https://dl.doubtnut.com/l/_jKYeUG0KSdks
https://dl.doubtnut.com/l/_TAWaR4OpVcYh


4. a.(A)  yellow ppt . (B)


(A)  brown vapours intensifield with cu- turnings.


(B) dissolves in lypo forming a soluble complex (C ) what are (A),(B) and (C

) and explain their reactions ? 

b.  and  both give while ppt with  solution .How is 

 detected in presence of ?


c.  idenity (A)

and (B) 

d. (A)  


Gas (B) turns  solution green Aq solution of (A) 

 while ppt .(C ) 


Filltrate after removing (C)  water rarr while ppt` dissolve in

qammon ium acetate solution Example.

View Text Solution

+KBr →

+conc. H2SO4

Δ
−−→

SO2 −
3 SO

2 −
4 BaCI2

SO2 −
3 SO

2 −
4

Na2B4O7.10H2O + conc. H2SO4

Δ
−−→ (A)

CH2OH Δ
−−−−−→ (B)

+diiH2SO4

Δ
−−→ gas(B)

K2Cr2O7 /H Θ

+BaCI2 →

+Br2

https://dl.doubtnut.com/l/_xN3u2MvyKjgr


5. Colourless salt  White ppt. (B) 





Iidentify (A),(B),(C ) and (D)

View Text Solution

(A)
dil .HCI
−−−−→

6. Identify (A),(B),(C ) and (D) in the following : 

Colourless salt (A)  brawn fames intensifled on adding 

 turnings


Aqueous solution (A)  blue colour solution (B) and metal (C ) 


Aquneous soluytion (A)  white ppt soluble in equeous 

forming (D)

View Text Solution

+concH2SO4 →

Cu

+Cu →

+HCI → NH3

https://dl.doubtnut.com/l/_BBMHV2cekpk2
https://dl.doubtnut.com/l/_qm73F0ZW9ck5
https://dl.doubtnut.com/l/_CtWn23Pfg8yE


7. Salt (A) makes part of electrode and is insoluble in water (A) is

blackened by  forming (B),(B) is soluble is equa regia forming (C ),(C )

gives orange ppt with  but ppt dissolves in extcess of  forming (D )

, identify (A),(B),(C ) and (D)

View Text Solution

NH3

KI KI

8. If  both are present , it is difficult to outline a scheme

to analyes in a mixture

View Text Solution

Cu2 + and Cd2 +

9.  is soluble in aque regain forming  What happens if Cu

ruranings are added to ?

View Text Solution

HgS HgCI2

HgCI2

https://dl.doubtnut.com/l/_CtWn23Pfg8yE
https://dl.doubtnut.com/l/_h4i5na7jqsVu
https://dl.doubtnut.com/l/_OKpjU4OaXQ8N


10. Identify (A),(B),(C ),(D) and (E ), (A) (black) 

(solution)  (C ) (gas) ( C) turns lead aceetain paper black , (B) gives

orange ppt (D ) solution in excess of  forming (E ).

View Text Solution

+dilHCI
Δ

−−→ (B)

+

KI

11. Sometimes it happens that when  gas is passed into solution in

dii,  yellowish white turbility appears .What do you conclude ? What

preperation are takes to check this turbidity?

View Text Solution

H2S

HCI

12. IIB (arsenic group ) sulphides are solution in  if cone 

isadded to this soluble portion colour red ppt are formed Write reaction

View Text Solution

YAS HCI

https://dl.doubtnut.com/l/_wCIgntjvmFxF
https://dl.doubtnut.com/l/_xZzBXO76EMNO
https://dl.doubtnut.com/l/_47MPLI2BgOPy


13. Light green solution of (A) does not give blue coloured ppt . With

 but on adding a drop of  blue ppt .(B) appears

.However (A) gives blue colour (C ) with  Example the

formation of (B) and (C ) identify (A) if (A) also gives while ppt , with

 solution

View Text Solution

K4[Fe(CN)4] HNO3

K4[Fe(CN)6]

AgNO3

14. Identify (A),(B),(C ) and (D) and example reactions .

(A) (green coloured salt) 


(B) (redidish brown gas) + 


(C ) (yellow ppt) 





(C ) 

View Text Solution

+K2Cr2O7 + concH2SO4

Δ
−−→ (B)

NaOH → (C)

+(CH3COO)2Pb → (D)

(A) + NaOH + Br2water
Δ

−−→ (C)

+(CH3COO)2Pb
Δ

−−→ (D)

https://dl.doubtnut.com/l/_4DNUuiLTcxQH
https://dl.doubtnut.com/l/_XrQRhZTaqr5Y


15. a. (A) (yellow coloured solution ) changes to light green coloured

solution (B) on passing  gas (A) and (B) both give white ppt. with 

 solution, insoluble in conc. (A) given blue coloured ppt (C )

with  B does not .What are (A),(B) and (C )? 


b. Identify A,B,C and D in the following reactions Bauxite + chemical

 





View Text Solution

H2S

BaCI2 HCI

K4[F2(CN)6]

+CI2

Δ
−−→ A + CO

A + H2O → B + HCI, B + H2SO4 → C + H2O

B + NaOH → D + H2O

16. (A) (colourless solution ) gives white ppt (B) with  solution but

ppt dissolves in excess of  forming (C ) (C ) does not give ppt with 

 but on boiling with  while ppt (B) appears (A) also gives

yellow ppt with  identify (A),(B) and (C )

View Text Solution

NaOH

NaOH

H2S NH4CI

AgNO3

https://dl.doubtnut.com/l/_NJxlEzPoe2rk
https://dl.doubtnut.com/l/_b5ewHm9Cc7mf


17. Test tube (A)contains aqnous zine acetate solution while test tube (B)

contains aq, zine chloride solution .What happens if  gas is passed

into each solution ?

View Text Solution

H2S

18. Colourless solution of (A) gives while ppt (B) with soluble in

aqueous  (a) also while given ppt (C ) with  soluble is extrable

in excess of it forming (D),(D) gives ppt .(E) with  identify (A),(B),(C ),

(D) and (E ).

View Text Solution

AgNO3

NH3 NaOH

H2S

19. yellow ppt what can be 


a. If it is soluble in hot water? 

b. If is gives green colour in flame ?

View Text Solution

MCI2 + K2CrO4 → MCI2

https://dl.doubtnut.com/l/_2jCZpJ7T5pm4
https://dl.doubtnut.com/l/_XbvTPhIsoyDi
https://dl.doubtnut.com/l/_tmmsO7qOvNMU


20.  


(A)gives brick red colour in flame and decolourises , Gas (C )

burns with blue flame .identify (A),(B), (C ) and (D),

View Text Solution

MnOΘ
4 /H ⊕

21.  in insoluble but is not preciplated when excess of 

is added to  explain

View Text Solution

CaSO4 (NH4)2SO4

CaCI2

https://dl.doubtnut.com/l/_umJzuQ4D683X
https://dl.doubtnut.com/l/_Gm1CWiDF1MSn


22.  


Gas (D) while fumes


Gas(B)  


Identify (A) to (H) and explain reactions.

View Text Solution

HCI
−−→

AI
−−→

Δ
(E)

H2O
−−→ gas(B)

https://dl.doubtnut.com/l/_cvUELwYAlgRq


23. Identify (A),(B),(C ),(D) and (E ),

View Text Solution

24. Colourless salt (A) gives apple- green flame with cone.  (A) on

reaction with dil  give light brown flame (D) turning KI -strach

paper blue.

(A)  yellow ppt (B)


(A) 


(D) 


(E )  


HCI

H2SO4

+CH3COOH + K2CrO4 →

+H2SO4 → (C)(white ppt) + (D)

+CH3NH2 + CH3OH + H2O + gas(E)

+Mg
Δ

−−→ (F )

https://dl.doubtnut.com/l/_Ch3MpxUIgCuN
https://dl.doubtnut.com/l/_hv8WOna5PzY7


Solved Example

(F) 


Identify (A) to (F) and explain reaction.

View Text Solution

+H2O → NH3

1. 

View Text Solution

https://dl.doubtnut.com/l/_hv8WOna5PzY7
https://dl.doubtnut.com/l/_hOZtDi5FwfX4


2. 

View Text Solution

3. (A) as important laboratory reagent, turn red litmus blue imparts

golden yellow colour in flame and is a gas precipitating agent, (A) reacts

with  or AI forming gas(A) gives while ppt with 

but ppt . Diwsolves in exces of (A), what is (A) and explain reaction

View Text Solution

Zn H2 ZnCI2 or AICI3

4. Identify (A) based on the following facts: 

a. (A) redues  solution to white ppt changing to grey


b.(A) turn  yellow coloured solution to green 


HgCI2

FeCI3

https://dl.doubtnut.com/l/_ERXBwYGgqdCT
https://dl.doubtnut.com/l/_wbuJSTYKEJNe
https://dl.doubtnut.com/l/_ta73sOX6A3Rh


c. (A) gives while ppt  soluble in excess of  


d. (A) gives yellow dirty ppt ,on passing  gas in yellow ammonium

salphide 


e. (A) gives chromyl chloride test

View Text Solution

NaOH NaOH

H2S

(YAS)

5. Identify A to E 

View Text Solution

https://dl.doubtnut.com/l/_ta73sOX6A3Rh
https://dl.doubtnut.com/l/_h0zFo8vC3Uau


6. Identify A to E 

View Text Solution

7. Name one common reagent that can precipitate or react and

differentate following pairs:

a.  and  b. 


c.  and  d.  and  


e.  and  i. 


g.  and 

View Text Solution

AgΘ B2 + Cu2 + , Pb2 +

I Θ CI Θ I Θ BrΘ

SO2 −
3 SO2 −

4
Fe3 + , Cu2 +

Co2 + Cu2 +

https://dl.doubtnut.com/l/_Ui87W8OWWPSK
https://dl.doubtnut.com/l/_u2Hhpb1tYuBA


8. What single reagent solution (including  could be used to effect

the separation of the following of solides? 

a. 


b.  


c. 


d.  and  


e. 

View Text Solution

H2O)

NaOH and Fe(OH)3

Ni(OH)2 and Fe(OH)2

Cr2O3 and Fe(OH)3

MnS CuS

AgCI and AgI

9. A solution may contain any of the following ions:

 Based on the experiment and result

therein , which of the ions would be present? Indicate any wrong

infornation if any…..

a. The original solution is treated with with (a subestitate is

obtain 

b. The ppt for (a) dissolves in regain 

c. The fitrate after sepration ppt in (a) is treated with  and  A

Fe2 + , Ni2 + , Cr3 + , Zn2 + , Mn2 +

(NH4), S

NaOH H2O2

https://dl.doubtnut.com/l/_swcwKFObUQ3y
https://dl.doubtnut.com/l/_GDotrxyi9mef


dark ppt , is separate filtrate is colourless.

e. The solution from (d) is turned with aq  A dark ppt forms 


f. The ppt from (e) is solution in  (aq) and solution develops an

latense red colour when treated with  (aq)

View Text Solution

NH3

HCI

SCN Θ

10. Identify A to E 

View Text Solution

https://dl.doubtnut.com/l/_GDotrxyi9mef
https://dl.doubtnut.com/l/_gOLrK8pNeFQl


Exercises (Linked Comprehension)

11. Identify (A) to (G) in the following scheme and name the process.




 


 


View Text Solution

CaCO3

Δ
−−→ (A) + (B)gas, (A) + H2O → (C)

(C) + B → CaCO3 + H2O(D) + (C)
Δ

−−→ (E)gas

(E) + H2O + (B) → (F ), NaCI + (F ) → (G) + (D)

(G)
Δ

−−→ Na3CO3 + H2O + (B)

1. Solid (while turbity which redissolves in HCI) 





Identify A

A. 

A + H2O → (B)

BiOCI

https://dl.doubtnut.com/l/_od4JZAX2xhsG
https://dl.doubtnut.com/l/_J9wkKGNvwBVK


B. 

C. 

D. 

Answer: c

View Text Solution

BI2S3

BiCI3

BaSO4

2. Solid (while turbity which redissolves in HCI) 


 


Identify B

A. BiOCI

B. 

C. 

A + H2O → (B)

BaS

BaCI3

https://dl.doubtnut.com/l/_J9wkKGNvwBVK
https://dl.doubtnut.com/l/_LGVuOVt8SX5V


D. None of these

Answer: a

View Text Solution

3. Solid (while turbity which dissolves in HCI) 





Identify C

A. BiOCI

B. 

C. 

D. 

Answer: b

A + H2O → (B)

Bi2S3

BiCI3

H2S

https://dl.doubtnut.com/l/_LGVuOVt8SX5V
https://dl.doubtnut.com/l/_PX8wVNlgt3ay


View Text Solution

4. Solid (while turbity which redissolves in HCI) 





Identify D

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

A + H2O → (B)

Br2

HCI

I2

CI2

https://dl.doubtnut.com/l/_PX8wVNlgt3ay
https://dl.doubtnut.com/l/_nJ4iADLByB7Z


5. Solid (while turbity which dissolves in HCI)





Identify E

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

A + H2O → (B)

Hg2(NO3)2

HCI

Hg2CI2

HNO3

https://dl.doubtnut.com/l/_USvQXati6Jgy


6. 


Identify compound A

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

ZnSO47H2O

FeSO47H2SO4

MgSO47H2O

CuSO4SH2O

https://dl.doubtnut.com/l/_LCZbtwdtnWvz


7. 


Gases C and D are

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

SO2, SO3

SO3, CO2

NO2, MgO

ZnO, SO3

https://dl.doubtnut.com/l/_syxVMPCcDFZF


8. 


Identify yellow solution F

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

Fe2O3

FeCI2

ZnCI2

CuCI

https://dl.doubtnut.com/l/_nhW33TnOTRmI


9. 


Identify G

A. 

B. ZnS

C. S

D. FeS

Answer: c

View Text Solution

SiO2

https://dl.doubtnut.com/l/_4kVo9w0QhDGf


10. 


Identify X

A. 

B. 

C. 

D. Nal

Answer: a

View Text Solution

CuSO4

BaSO4

BaCI2

https://dl.doubtnut.com/l/_mW7Ir9csomhf


11. 


What is the formula of chocolate coloured ppt ?

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

Fe4[Fe(CN)6]

Cu2[Fe(CN)6]

Cu4[Fe(CN)6]

Cu(CN)2

https://dl.doubtnut.com/l/_xBSZIZy8jK70


12. 


What is the formula of brown ppt ?

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

Cu2I2

Cu2I2 + I Θ
3

CuI2

CuSO4

https://dl.doubtnut.com/l/_62ozQDY3mdWU


13. 


Identify C

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

[Fe(H2O)5NO]SO4

Na2SO4

Na2[Fe(CN)2NO]

Fe[Fe(CN)6]
3

https://dl.doubtnut.com/l/_RMZ9JDAQlTtC


14. 


Identify B

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

ZnSO4

CuSO4

MgSO4

FeSO4

https://dl.doubtnut.com/l/_WLA1d5XcAkwW


15. 


Identify D

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

ZnO

FeO

Fe2O3

CuO

https://dl.doubtnut.com/l/_7u0fFNkLOxLm


16. 


Compound (A) is

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

HgI2

K2HgI4

Hg(NO3)2

Hg(NO3)2

https://dl.doubtnut.com/l/_WohLyStbiSLL


17. 


Oxidation state of Fe in compound (F) is

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

+1

+2

+3

+4

https://dl.doubtnut.com/l/_JK8wrYN0ozus


18. 


 brown ppt (G) 


Hence, compound(G) is

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

(D)
in basic medium

+ (NH4)2SO4 →

HgI2

NH4I

Hg(NH2)I

https://dl.doubtnut.com/l/_IqmKdl8GaOP1


19. 


What ppt (B)  Black ppt . (H). 


Hence, (H) is due to the formula of

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

+NH3 →

Hg(NH2)CI

Hg

Hg(NH2)CI + Hg

Hg(NH2)

https://dl.doubtnut.com/l/_rFIBRO4vn1eK


20. 


Gas (B) on passing through  solution will give

A. Black ppt

B. yellow ppt

C. orange ppt

D. No ppt

Answer: b

View Text Solution

CaSO4

https://dl.doubtnut.com/l/_zT6WuuBSQJCf


21. 


Compound (A),(B) and(E ) are respectively

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

CuS, H2S, SO2

PbS, H2S, SO2

PbS, H2S, SO3

ZnS, H2S, SO2

https://dl.doubtnut.com/l/_zT6WuuBSQJCf
https://dl.doubtnut.com/l/_y62J0PlH3a2K


22. 


Compound (C ) and (D) rae respectively

A. 

B. 

C. 

D. 

Answer: b

PbO, PbCI2

PbCI2, PbCI2

PbO, PbO2

PbS, PbO

https://dl.doubtnut.com/l/_y62J0PlH3a2K
https://dl.doubtnut.com/l/_WrF8bOL9Jbks


View Text Solution

23. i.(A)  While fumes. 

ii. After (B) is expelled completely, resultant alkline solution again gives

gas (B) on heating with zine 

iii.(A)  


Identify A

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

NaOH
−−−→

Δ
(B)(g)

HCI
−−→

Δ
−−→ N2O + H2O

NH4NO2

NH4NO3

HCI

NaSO4

https://dl.doubtnut.com/l/_WrF8bOL9Jbks
https://dl.doubtnut.com/l/_aIPz7cahPY8D


24. i.(A)  While fumes. 

ii. After (B) is expelled completely, resultant alkline solution again gives

gas (B) on heating with zine 

iii.(A)  


Identify B

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

NaOH
−−−→

Δ
(B)(g)

HCI
−−→

Δ
−−→ N2O + H2O

SO2

NH3

N2O

NO2

25. i.(A)  While fumes. 

ii. After (B) is expelled completely, resultant alkline solution again gives

gas (B) on heating with zine 

NaOH
−−−→

Δ
(B)(g)

HCI
−−→

https://dl.doubtnut.com/l/_AxIaWmP00oZB
https://dl.doubtnut.com/l/_NjjYUmB5MC6z


iii.(A)  


What is the formula of white fumes?

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

Δ
−−→ N2O + H2O

NH4NO3

NH4CI

NH4NO2

NH3

26. 


Identify A

https://dl.doubtnut.com/l/_NjjYUmB5MC6z
https://dl.doubtnut.com/l/_OhFIJbz149M6


A. 

B. 

C. 

D. 

Answer: b

View Text Solution

FeSO4

Fe(SO4)3

Fe2O3

FeO

27. 


What is the formula of brown ppt?

A. Fe(OH)3

https://dl.doubtnut.com/l/_OhFIJbz149M6
https://dl.doubtnut.com/l/_72IHiueXYYxk


B. 

C. 

D. None of these

Answer: a

View Text Solution

Fe(OH)2

FeCI3

28. 


Which of the following complex is formed when A reacts with

?

A. Prussian blue

B. Turnbull's blue

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_72IHiueXYYxk
https://dl.doubtnut.com/l/_VUGejN0exVfy


C. Brown ring complex

D. Sodium mitroprusside

Answer: a

View Text Solution

29. 


Identify A

A. ZnS

B. ZnO

C. MgO

https://dl.doubtnut.com/l/_VUGejN0exVfy
https://dl.doubtnut.com/l/_zVXPmb9bRnfA


D. FeO

Answer: b

View Text Solution

30. 


Identify B

A. 

B. 

C. 

D. 

FeCI2

NiCI2

ZnCI2

FeCI3

https://dl.doubtnut.com/l/_zVXPmb9bRnfA
https://dl.doubtnut.com/l/_Vjm5NOjKk6Qr


Answer: c

View Text Solution

31. 


Identify C

A. 

B. 

C. 

D. 

Answer: a

Vi T t S l ti

Na2ZnO2

Zn(OH)2

Fe(OH)3

Fe(OH)2

https://dl.doubtnut.com/l/_Vjm5NOjKk6Qr
https://dl.doubtnut.com/l/_THUOmVmRSIgn


View Text Solution

32. 


Identify D

A. ZnO

B. ZnS

C. FeO

D. FeS

Answer: b

View Text Solution

https://dl.doubtnut.com/l/_THUOmVmRSIgn
https://dl.doubtnut.com/l/_ZOja6X0vuS0F


33. 


Identify A

A. 

B. 

C. 

D. None of these

Answer: c

View Text Solution

AICI3

Cr(OH)
2

CrCI3

https://dl.doubtnut.com/l/_rK6fsYhjGawZ


34. 


Identify B

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

CrC13

Cr(OH)
3

Mn(OH)
2

CrO2 −
4

https://dl.doubtnut.com/l/_BnuloP40Sq1q


35. 


Identify C

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

Na2Cr2O7

Na2CrO4

Na2MnO4

NaMnO4

https://dl.doubtnut.com/l/_MMYqNlgrW53z


36. 


Identify D

A. PbS

B. 

C. 

D. 

Answer: c

View Text Solution

PbI2

PbCrO4

Zn(OH)
2

37. 


Identify A

https://dl.doubtnut.com/l/_Grol2eaGQI13
https://dl.doubtnut.com/l/_6sfrJQAELiQo


A. 

B. 

C. 

D. 

Answer: c

View Text Solution

Fe(NO2)3

ZnBr2

FeBr3

ZnCI2

38. 


Identify B

A. 

B. 

C. 

D. 

CI2

Br2

NO2

I2

https://dl.doubtnut.com/l/_6sfrJQAELiQo
https://dl.doubtnut.com/l/_knGyKjPR7hCD


Answer: b

View Text Solution

39. 


Identify C

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

Fe(OH)3

Fe2O3

FeO

FeS

https://dl.doubtnut.com/l/_knGyKjPR7hCD
https://dl.doubtnut.com/l/_XDJ1TCpMbbtv


40. 


Identify D

A. 

B. 

C. 

D. None of these

Answer: c

View Text Solution

AgCI

AgF

AgBr

41. i.(A)  glassy traparent beat (B) on platinum wire 


(B)  coloured bead(C )


ii  green flame 

Δ
−−→

+CuSO4 →

(A)
(D )

+ conc. H2SO4 + CH3CH2OH
ignite
−−→

https://dl.doubtnut.com/l/_7q06pqnKFvqM
https://dl.doubtnut.com/l/_XnxKYIkl6Ipi


iv.Aqueous solution (A) is alkline 

Identify A .

A. 

B. 

C. 

D. None of these

Answer: b

View Text Solution

NaNH4HPO4.4H2O

NA2B4O7.10H2O

CuSO4. SH2O

42. i.(A)  glassy traparent beat (B) on platinum wire 


(B)  coloured bead(C )


ii  green flame 

iv.Aqueous solution (A) is alkline 

Identify (B) .

A. 

Δ
−−→

+CuSO4 →

(A)
(D )

+ conc. H2SO4 + CH3CH2OH
ignite
−−→

NaPO3

https://dl.doubtnut.com/l/_XnxKYIkl6Ipi
https://dl.doubtnut.com/l/_etb39uOAZHjF


B. 

C. 

D. None of these

Answer: c

View Text Solution

NaBO2

NaBO2 + B2O3

43. i.(A)  glassy traparent beat (B) on platinum wire 


(B)  coloured bead(C )


ii  green flame 

iv.Aqueous solution (A) is alkline 

Identify AC.

A. 

B. 

C. 

D. None of these

Δ
−−→

+CuSO4 →

(A)
(D )

+ conc. H2SO4 + CH3CH2OH
ignite
−−→

Cu3(PO4)2

CuSO4

Cu(BO2)2

https://dl.doubtnut.com/l/_etb39uOAZHjF
https://dl.doubtnut.com/l/_rospu86QvNEv


Answer: c

View Text Solution

44. i.(A)  glassy traparent beat (B) on platinum wire 


(B)  coloured bead(C )


ii  green flame 

iv.Aqueous solution (A) is alkline 

Identify D.

A. 

B. 

C. 

D. None of these

Answer: b

View Text Solution

Δ
−−→

+CuSO4 →

(A)
(D )

+ conc. H2SO4 + CH3CH2OH
ignite
−−→

(CH3)3BO3

C2H5)3BO3

H3BO3

https://dl.doubtnut.com/l/_rospu86QvNEv
https://dl.doubtnut.com/l/_NFldbYOz8YQJ
https://dl.doubtnut.com/l/_09ZT9Mijlnwq


45. A colourless mixture of two salts (A) and (B) [excess] is soluble in 

. 




Identify A

A. 

B. 

C. 

D. None of these

Answer: a

View Text Solution

H2O

AICI3

ZnCI2

FeCI3

https://dl.doubtnut.com/l/_09ZT9Mijlnwq


46. A colourless mixture of two salts (A) and (B) [excess] is soluble in 

. 


Identify B

A. 

B. 

C. 

D. None of these

Answer: c

View Text Solution

H2O

AI(OH)
3

Zn(OH)
2

NaOH

https://dl.doubtnut.com/l/_HhicovVqDzKS


47. A colourless mixture of two salts (A) and (B) [excess] is soluble in .




Identify C

A. 

B. 

C. 

D. None of these

Answer: b

View Text Solution

H2O

Na2ZnO2

NaAIO2

NA2SnO2

https://dl.doubtnut.com/l/_EisHIyIjNKZ7


48. 


Find the anion (s)

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

SO2 −
3

S2 −
3

, S2 −

SO2 −
3

, CO2 −
3

S2O
2 −
3

https://dl.doubtnut.com/l/_xVvNdrJjEdpu


49. 


Find out (E )

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

S2 −

CO2 −
3

S2O
2 −
3

SO2 −
4

https://dl.doubtnut.com/l/_7bjWiK1tgoU8


50. 


Find out (F)

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

HgSO4.2HgO

HgSO4.3HgO

HgSO4

Hg2SO4.3HgO

51. Cations are classified into varius group on the basis of their behaviour

against some reagents .The group reagent used for the classifaction of

https://dl.doubtnut.com/l/_xuFs3kTE1VeE
https://dl.doubtnut.com/l/_Ew2VY1jpT9uw


most common cation are .

Classification is based on whether a cation reacts with these reagents by

the formation of precipitates or not .

Which one among the following paires of ions cannot be separated by

 in the presence of dilute hydrochloric acid ?

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

HCI, H2S, NH4OH, (NH4)2CO3

H2S

Bi2 + , Cd2 +

AI 2 + , Hg2 +

Zn3 + , Cu2 +

Ni2 + , Cu2 +

52. Cations are classified into varius group on the basis of their behaviour

against some reagents .The group reagent used for the classifaction of

most common cation are 

Classification is based on whether a cation reacts with these reagents by

HCI, H2S, NH4OH, (NH4)2CO3

https://dl.doubtnut.com/l/_Ew2VY1jpT9uw
https://dl.doubtnut.com/l/_VDk8lfeg4Gas


the formation of precipitates or not .

An aqueous solution contain .THe addition of 

 will procipitate.

A. only

B. 

C.  and 

D.  and 

Answer: c

View Text Solution

Hg2 + , Hg2 +
2 , Pb2 +

2MHCI

HgCI2

PbCI2only −

PbCI2 Hg3CI2

PbCI2 CdCI2

53. Cations are classified into varius group on the basis of their behaviour

against some reagents .The group reagent used for the classifaction of

most common cation are .

Classification is based on whether a cation reacts with these reagents by

the formation of precipitates or not .

An aqucous solution which is sightly acids contains cattions

HCI, H2S, NH4OH, (NH4)2CO3

https://dl.doubtnut.com/l/_VDk8lfeg4Gas
https://dl.doubtnut.com/l/_rGUbXRluFTHf


. THe rengent added in excess to this solution

would identify the separate  ion in one step is

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

Fe2 + , Zn2 + and Cu2 +

Fe2 +

2MHCI

6MNH3

6MNaOH

H2Sgas

54. The reagents like 

Nessler's ect, find extenstive and very important applicasion in

quentitative analysis because these resgents form different type of

produce with different cation for axample  form yellow precipitate

with  but at form red iprecipitate with  , Hence these reagents

are widely used in the quantitative amalysis of morgenic salts 

Which of the following is not currectly matched ?

AgNO3, K4[Fe(CN)6], KCNS, KI, K2CrO4

KI

Pb2 + Hg2 +

https://dl.doubtnut.com/l/_rGUbXRluFTHf
https://dl.doubtnut.com/l/_8vsE5odK5lli


A. white ppt.

B.  Black perecipitate

C.  orange turbidity

D.  white precipitate

Answer: b

View Text Solution

Ag⊕ + S2O
2 −
3 →

Pb2 +
( aq )

2CI Θ
( aq )

→

Bil3(Black preciplate) + H2O(1)
Δ

−−→

Ca2 +
( aq )

+ K4[Fe(CN)6]
aq

→

55. The reagents like 

Nessler's ect, find extenstive and very important applicasion in

quentitative analysis because these resgents form different type of

produce with different cation for axample  form yellow precipitate

with  but at form red iprecipitate with  , Hence these reagents

are widely used in the quantitative amalysis of morgenic salts 

Which of the following cation (i.e. basic radicals) forms coloured (not

white) percipitates with aqueous solution of potassium indide the

precipitete does not dissolve is exiess og reagent?

AgNO3, K4[fe(CN)6], KCNS, KI, K2CrO4

KI

Pb2 + Hg2 +

https://dl.doubtnut.com/l/_8vsE5odK5lli
https://dl.doubtnut.com/l/_uMoLi3dkDJCs


A. 

B. 

C. 

D. 

Answer: b

View Text Solution

Hg2 +

Hg2 +
2

Bi3 +

Cu2 +

56. The reagents like 

Nessler's ect, find extenstive and very important applicasion in

quentitative analysis because these resgents form different type of

produce with different cation for axample  form yellow precipitate

with  but at form red iprecipitate with  , Hence these reagents

are widely used in the quantitative amalysis of morgenic salts 

Which of the following hydroxide does not dissolve in ammounts solution

but sisolves in sodium hydroxide ?

A. 

AgNO3, K4[Fe(CN)6], KCNS, KI, K2CrO4

KI

Pb2 + Hg2 +

Zn(OH)2

https://dl.doubtnut.com/l/_uMoLi3dkDJCs
https://dl.doubtnut.com/l/_Twxspgg4ROAP


B. 

C. 

D. 

Answer: d

View Text Solution

Cd(OH)2

Cu(OH)2

AI(OH)3

57.  solution was added to four semple solution in difference test

tube and found the following observation about the precipitate.

a. White ppt which is solution in oxcess of  solution 


b.On heating which is white in cold but yellow on heating 

c. The cation present in (b) forms white ppt , with hypo solution which

give black ppt on heating 

d. The cation present in (c ) forms soluble complex with excess of 

solution 

White ppts in (a),(b) and (c ) respectively obtained are

A. 

NH3

NH3

NH3

Zn(OH)2, Zn(OH)2, HgOHg(NH2)NO3

https://dl.doubtnut.com/l/_Twxspgg4ROAP
https://dl.doubtnut.com/l/_hSspMG3tJnYM


B. 

C. 

D. 

Answer: a,b

View Text Solution

Cd(OH)2, Zn(OH)2, HgOHg(NH2)NO3

HgOHg(NH2)NO3Zn(OH)2, Cd(OH)2

AI(OH)2, Zn(OH)2, Pb(OH)2

58.  solution was added to four semple solution in difference test

tube and found the following observation about the precipitate.

a. White ppt which is solution in oxcess of  solution 


b. On heating which is white in cold but yellow on heating 

c. The cation present in (b) forms white ppt , with hypo solution which

give black ppt on heating 

d. The cation present in (c ) forms soluble complex with excess of 

solution 

The solution initialy present in (a)  (basic medium) gives ppt , then

(a) may have

NH3

NH3

NH3

+H2S

https://dl.doubtnut.com/l/_hSspMG3tJnYM
https://dl.doubtnut.com/l/_XJLeTGUXPhSf


A. 

B. 

C. 

D. 

Answer: a,b

View Text Solution

Zn2 +

Cd2 +

Co2 +

Ni2 +

59.  solution was added to four semple solution in difference test

tube and found the following observation about the precipitate.

a. White ppt which is solution in oxcess of  solution 


b.On heating which is white in cold but yellow on heating 

c. The cation present in (b) forms white ppt , with hypo solution which

give black ppt on heating 

d. The cation present in (c ) forms soluble complex with excess of 

solution 

NH3

NH3

NH3

https://dl.doubtnut.com/l/_XJLeTGUXPhSf
https://dl.doubtnut.com/l/_qPQnwHzdW3yw


White ppt in (c) and the soluble complex from white ppt with the type

solution is//are

A. 

B. 

C. 

D. None of these

Answer: a,c

View Text Solution

Pb(OH)2, [Pb(S2O3)2]
2

Ag2O, [Ag(S2O3)2]
2

HgO. Hg(NH2)NO3, [Hg(S2O3)2]
2 −

60. (A) is a colourless solid, it metal when heated and gives of a gas (B)

Which is supporter of combustion , if heating is contimed the white of

the solid disuppears , When (A) is heatyed with an aqueous 

solution , an alkaline gas (C ) is evolved ,When gas(B) is leasted with

sodumine ,a colourless solid (D) is formed .When (D) is heated with dil

 a colourless liquid (F) is formed 


The compound E has

NaOH

H2SO4

https://dl.doubtnut.com/l/_qPQnwHzdW3yw
https://dl.doubtnut.com/l/_i3kqRdXCzF3R


A. Linear structure

B. Bent structure

C. Terehedral structure

D. None of these

Answer: b

View Text Solution

61. (A) is a colourless solid, it metal when heated and gives of a gas (B)

Which is supporter of combustion , if heating is contimed the white of

the solid disuppears , When (A) is heatyed with an aqueous 

solution , an alkaline gas (C ) is evolved ,When gas(B) is leasted with

sodumine ,a colourless solid (D) is formed .When (D) is heated with dil

 a colourless liquid (F) is formed .


The mass of compound E is

A. Ammonia

NaOH

H2SO4

https://dl.doubtnut.com/l/_i3kqRdXCzF3R
https://dl.doubtnut.com/l/_sIcikNLW46Hg


B. Hydrazoic acid

C. Hydrogen amide

D. None of these

Answer: b

View Text Solution

62. (A) is a colourless solid, it metal when heated and gives of a gas (B)

Which is supporter of combustion , if heating is contimed the white of

the solid disuppears , When (A) is heatyed with an aqueous 

solution , an alkaline gas (C ) is evolved ,When gas(B) is leasted with

sodumine ,a colourless solid (D) is formed .When (D) is heated with dil

 a colourless liquid (F) is formed .


The compound C has

A. Linear geometry

B. Pyramidal

NaOH

H2SO4

https://dl.doubtnut.com/l/_sIcikNLW46Hg
https://dl.doubtnut.com/l/_2uM6l3WXgZTw


C. Terehedral

D. None of these

Answer: b

View Text Solution

63. 


compound (B) on strong heating produces compound(s) which has/have

A. Chain structure

B. Tetrahedral structure

C. Both (a) and (b)

https://dl.doubtnut.com/l/_2uM6l3WXgZTw
https://dl.doubtnut.com/l/_WZ1SYdDnqdsz


D. None of these

Answer: c

View Text Solution

64. 


Which of the following statement is/are correct for gas (D) ?

(I)it has the state of hydridisation 


(II)Gas can be identified by  solution 


(III)Gas can be identified by  solution 


(IV)Gas can be identified by passing through solution

A. I,IV

sp3

CaCI2

Pb(OAc)2

https://dl.doubtnut.com/l/_WZ1SYdDnqdsz
https://dl.doubtnut.com/l/_I7PhMSpTGGPg


B. I,III

C. III only

D. I,II,IV

Answer: c

View Text Solution

65. 


Compound (B) on reaction with  gives a coloured

complex exhibility

A. Optical isomerism

[Na(en)3][NO3)2

https://dl.doubtnut.com/l/_I7PhMSpTGGPg
https://dl.doubtnut.com/l/_Fdex7LRGYWB1


B. Geonettical isomeriam

C. Linkage isomerism

D. No isomerism

Answer: a

View Text Solution

66. A colourless (A) when place into water a heavy white turbidly of (B)

solid (A) gives a close solution in conesolution in cone  when 

solution is added to clear solution water ,(B) forms again (B) dissolves in

dilute . When  is passed through a sespension of (A) or (B), a

black precipitate (C ) forms , (C ) is insolves in yellow ammonium sulphide

 , cone  added to solid (A) liberates gas (D) gas (D) is

water soluble and gives white precipitate with mercuric salts (E ) and not

mercuric salt .The black precipitate (C ) dissolves in  to give

a solution to which  is added followed by addition of 

when a white precipitate (F) is formed (E ) gives a black ppt , (G) with

HCI HCI

HCI H2S

(NH4)2S H2SO4

HNO3, (1, 1)

H2SO4 NH4OH

https://dl.doubtnut.com/l/_Fdex7LRGYWB1
https://dl.doubtnut.com/l/_yWQTTsCukRA3


solution of sodium stannite. 

When compound (E ) reacts with  , then product is a

A. White ppt

B. Black ppt

C. yellow ppt

D. Green ppt

Answer: b

View Text Solution

NH4OH

67. A colourless (A) when place into water a heavy white turbidly of (B)

solid (A) gives a close solution in conesolution in cone  when 

solution is added to clear solution water ,(B) forms again (B) dissolves in

dilute . When  is passed through a sespension of (A) or (B), a

black precipitate (C ) forms , (C ) is insolves in yellow ammonium sulphide

 , cone  added to solid (A) liberates gas (D) gas (D) is

water soluble and gives white precipitate with mercuric salts (E ) and not

HCI HCI

HCI H2S

(NH4)2S H2SO4

https://dl.doubtnut.com/l/_yWQTTsCukRA3
https://dl.doubtnut.com/l/_ObPcZ201PHhC


mercuric salt .The black precipitate (C ) dissolves in  to give

a solution to which  is added followed by addition of 

when a white precipitate (F) is formed (E ) gives a black ppt , (G) with

solution of sodium stannite. 

Compound (C ) is also formed by the following reaction

A. 

B. 

C. 

D. None of these

Answer: c

View Text Solution

HNO3, (1, 1)

H2SO4 NH4OH

Ba2 + + S(2)O2 −
3 → E

Bi2 + + S(2)O2 −
3 → E

Bi2 +S(2)O3

Δ
−−→ E

68. A colourless (A) when place into water a heavy white turbidly of (B)

solid (A) gives a close solution in conesolution in cone  when 

solution is added to clear solution water ,(B) forms again (B) dissolves in

dilute . When  is passed through a sespension of (A) or (B), a

HCI HCI

HCI H2S

https://dl.doubtnut.com/l/_ObPcZ201PHhC
https://dl.doubtnut.com/l/_Yh3YjG37twJC


Exercises (Multiple Correct) Part-A (Analysis Of Anions)

black precipitate (C ) forms , (C ) is insolves in yellow ammonium sulphide

 , cone  added to solid (A) liberates gas (D) gas (D) is

water soluble and gives white precipitate with mercuric salts (E ) and not

mercuric salt .The black precipitate (C ) dissolves in  to give

a solution to which  is added followed by addition of 

when a white precipitate (F) is formed (E ) gives a black ppt , (G) with

solution of sodium stannite. 

Compound (B ) is not soluble in

A. Tartaric ric acid

B. HCI

C. 

D. 

Answer: a

View Text Solution

(NH4)2S H2SO4

HNO3, (1, 1)

H2SO4 NH4OH

HNO3

H2SO4

https://dl.doubtnut.com/l/_Yh3YjG37twJC


1. When Zn reacts with cone ,  are

formed , the reaction (s) involved in this process is/are

A. Radox reaction

B. Acid base reaction

C. Ion exchange reaction

D. None

Answer: a,b

View Text Solution

HNO3, thenZn(NO3) and NO2

2. Select the correct statement(s):

A.  is sparingly soluble in water because ithas massive H-

bonding

B. When  reacts with bicarbonatie, then white ppt of  is

formed

NaHCO2

BaCI2 BaCO3

https://dl.doubtnut.com/l/_yfWL04YRPIek
https://dl.doubtnut.com/l/_EgkCGqVyYaZW


C.  is poisonous

D. Phenophthelein is turned pink by soluble carbonate and colourless

by soluble hydrogen carbonate.

Answer: a,c,d

View Text Solution

HgCI2

3. Which of the following anion may be identified by their ppt reaction in

aqueous solution ?

A. 

B. 

C. 

D. 

Answer: a,b,c

View Text Solution

CrO
2 −
4

SO
2 −
4

PO
3 −
4

MnOΘ
4

https://dl.doubtnut.com/l/_EgkCGqVyYaZW
https://dl.doubtnut.com/l/_2NwQ2KQF5lVR


4. Select the correct statement(s):

A. White ppt of  and  is soluble in dil  dil 

and 

B. On standing the precipitate  is slowly oxidised to salphte

and then becomes insolable in dilute mineral acid

C. When excess of  gas is passed into the solution of  and 

 then white turbility disappeare

D. The hydrogen carbonate of alkali metals are soluble in water , but

are less soluble then the cprresponding normal carbotates

Answer: b,c,d

View Text Solution

BaSO3 CaSO4 HNO3 HCI

CH3COOH

BaSO4

SO2 BaSO3

CaSO3

5. Which of the following carbonates do not give metal oxide on heating ?

https://dl.doubtnut.com/l/_2NwQ2KQF5lVR
https://dl.doubtnut.com/l/_YQ2ZFVUQVW6k
https://dl.doubtnut.com/l/_lVQVZilqPcSn


A. 

B. 

C. 

D. 

Answer: b,c,

View Text Solution

CuCO3

K2CO3

Na2CO3

MgCO3

6. Which of the following compounds are soluble in water ?

A. 

B. 

C. 

D. 

Answer: c,d,

View Text Solution

CaC2O4

SrSO4

BaCI2

(NH4)2C2O4

https://dl.doubtnut.com/l/_lVQVZilqPcSn
https://dl.doubtnut.com/l/_1BpW5g9iRaGg


7. Which of the following balides are not soluble in water ?

A. 

B. 

C. 

D. 

Answer: a,b,c

View Text Solution

AgCI

AgBr

PbCI2

AgF

8. The brown ring less test is performed for the qualitative detection of

A. Bromides

B. Iodides

C. Nitrates

https://dl.doubtnut.com/l/_1BpW5g9iRaGg
https://dl.doubtnut.com/l/_GnM4utTEy4xQ
https://dl.doubtnut.com/l/_3JLiC2Qq9T59


D. Nitrite

Answer: c,d

View Text Solution

9. Which of the following salt does give positive test for nitrate ion?

A. 

B. 

C. 

D. None of these

Answer: a,b,c

View Text Solution

KNO3

NaNO3

Mg(NO3)2

https://dl.doubtnut.com/l/_3JLiC2Qq9T59
https://dl.doubtnut.com/l/_SeGShWZOTdCc


10. which of the following anions are easily removed from aqueous

solution by precipitation ?

A. 

B. 

C. 

D. 

Answer: a,b,d

View Text Solution

CI Θ

SO
2 −
4

NOΘ
3

CO2 −
3

11. A white ppt , is obtainned when

A. A solution of  is treated with 

B. A solution of  is treated with 

C. A solution of  is treated with 

D. A solution of is treated with 

BaCl2 Na2CO3

CaCl2 Na2SO3

ZnSO2 Na2CrO4

Pb(NO3)2 Na2CrO4

https://dl.doubtnut.com/l/_NGuP4viKkpD6
https://dl.doubtnut.com/l/_TZuzkO7MtCMM


Answer: a,b,c

View Text Solution

12. Which pair would not be expected to form precipitate when solution

are mixed?

A. 

B. 

C. 

D. 

Answer: a,b,c

View Text Solution

K ⊕ , SO2 −
4

Na⊕ , S2 −

Ag⊕ , NOΘ
3

Al3 + , HOΘ

13. Riddish brown gas is obtain with the following are treated with cone

H2SO4

https://dl.doubtnut.com/l/_TZuzkO7MtCMM
https://dl.doubtnut.com/l/_FEwC0nAAV6ag
https://dl.doubtnut.com/l/_eDb2JP2OfdIu


A. 

B. 

C. 

D. 

Answer: a,b,c

View Text Solution

BrΘ

NOΘ
2

NOΘ
3

SO2 −
3

14. The correct statement (s) is/are with respect to chromy chloride test

A. Formation of lead chromate

B. Formation of chromyl chloride chromate

C. Liberation of chloride

D. Formation of reddish -brown vapours

Answer: a,b,d

View Text Solution

https://dl.doubtnut.com/l/_eDb2JP2OfdIu
https://dl.doubtnut.com/l/_ZvTxAZboZRdp


15. Nitrite  interfers in the ring -test of nitrate  some of

the following reagent can be used for the removed of nitrate

A. 

B. (thiourea)

C.  (sulphanitlic acid)

D. None of these

Answer: a,b,c

View Text Solution

(NOΘ
2 ) (NOΘ

3 )

AgF

(NH2)2CS

NH2SO3H

16. If (X) turn line water milky , then X may be

A. 

B. 

C. 

CO2

SO2

NO2

https://dl.doubtnut.com/l/_ZvTxAZboZRdp
https://dl.doubtnut.com/l/_KQPdR1aDbHQu
https://dl.doubtnut.com/l/_tLpx0kHJUMI6


D. 

Answer: a,b,

View Text Solution

O2

17. If(X) turns acidified  solution green , then then X may be

A. 

B. 

C. 

D. 

Answer: a,c,d

View Text Solution

K2Cr2O7

SO2

CO2

NOΘ
2

Fe2 +

18. If (X) decolourises acidfied  solution , then X mayKMnO4

https://dl.doubtnut.com/l/_tLpx0kHJUMI6
https://dl.doubtnut.com/l/_Jl4qnSOkmS12
https://dl.doubtnut.com/l/_ffnWhKJOgtXH


A. 

B. 

C. 

D. 

Answer: a,b,c,d

View Text Solution

S2 −

SO2 −
3

Fe2 +

SO2

19. Which of the following ppt (s) of sulphite ion have white colour ?

A. 

B. 

C. 

D. 

Answer: a,b,c,d

View Text Solution

Ag2SO3

PbSO3

CaSO4

BaSO3

https://dl.doubtnut.com/l/_ffnWhKJOgtXH
https://dl.doubtnut.com/l/_YgSfFdFU1jTs


20. Which of the following gases have brown colour ?

A. 

B. 

C. 

D. 

Answer: a,b

View Text Solution

Br2

NO2

CO2

I2

21.  can be distinguished by using

A. 

B. 

C.  solution

S2 − and SO2 −
3

(CH2COO)2Pb

Na2[Fe(CN)5NO]

CO2O
2 −
7

https://dl.doubtnut.com/l/_YgSfFdFU1jTs
https://dl.doubtnut.com/l/_hZQBMj4RUSjH
https://dl.doubtnut.com/l/_VtWPLk35hn5z


D. 

Answer: a,b,d

View Text Solution

CaCI2

22. Consider the following reaction 

Nitrite + acetic acid + thioures  


Formation of the product in the reaction cannot be identified by

A.  when blood -red colour appears

B.  when blue colour appears

C.  when green colour appears

D.  when colourless solution is formed

Answer: b,c,d

View Text Solution

→ N2 + SC
Θ

N + 2H2O

FaCI3 /dil, HCI

FaCI3 /dil, HCI

K2Cr2O7, HCI

KMnO4 /HCI

https://dl.doubtnut.com/l/_VtWPLk35hn5z
https://dl.doubtnut.com/l/_hbc3GTmxW4My
https://dl.doubtnut.com/l/_IDfqvReXK3Jd


23. 


The gas will be

A. 

B. 

C. 

D. 

Answer: b,c

View Text Solution

CO2

SO2

H2S

SO3

24. Which of the following combinations in an aqueous medium will give

a yellow ppt. ?

A. AgNO3 + NaBr

https://dl.doubtnut.com/l/_IDfqvReXK3Jd
https://dl.doubtnut.com/l/_sJEzYrm5RDya


B. 

C. 

D. None of these

Answer: a,b

View Text Solution

Pb(CH3COO)2 + Na2CrO4

Fe3 + +
Θ

SCN

25. Which of the following nittates are water soluble ?

A. 

B. 

C. 

D. 

Answer: a,b,c,d

View Text Solution

NaNO3

AgNO3

Hg(NO3)2

LiNO3

https://dl.doubtnut.com/l/_sJEzYrm5RDya
https://dl.doubtnut.com/l/_30H15d4t3Aeh
https://dl.doubtnut.com/l/_hlK58p9ZrpDg


26. Which of the following reacgents can be used to distinguish between

 and ?

A. Lime water

B. Zine nitropruside paste in water

C. Potasium iodate and strach

D. Acidfied potessium dichromate of aqueous

Answer: b,c,d

View Text Solution

SO2 CO2

27. Each of these solution is added to a mixture of aqueous solution oof

iodide and chloroform test for iodine when the solution are vigeorrously

mixed?

A. NaCI solution

B. NaBr solution

https://dl.doubtnut.com/l/_hlK58p9ZrpDg
https://dl.doubtnut.com/l/_RONBR0s46J9W


C. Chloride water

D. Bromine water

Answer: c,d

View Text Solution

28. For the line water test , if the observation are position for the

unknown sample , then which of the following conclassion (s) is /are

incorrect?

A. sample has only 

B. sample has only 

C. sample has only 

D. sample has 

Answer: a,b,d

View Text Solution

NO2

SO3

CO2 and SO2

H2S

https://dl.doubtnut.com/l/_RONBR0s46J9W
https://dl.doubtnut.com/l/_TPxl2N5o5mx4


29.  


 


 


 


Select the correct options (s) for whitge ppt. shown in the above

reactions.

A. 

B. 

C. 

D. 

Answer: a,c

View Text Solution

CaCO3 → A + B(gas)

A + H2O → C

C + B → D
( White ppt. )

+ H2O

D + B(gas) → E
( Water soluble )

Boil
−−−→
BaCI2

F
( White ppt. )

CaCO3

MgCO3

BaCO3

Na2CO3

30. Which of the following statement (s) is/are correct?

https://dl.doubtnut.com/l/_TPxl2N5o5mx4
https://dl.doubtnut.com/l/_iP9i7ySWS1Be
https://dl.doubtnut.com/l/_P3wxCVz97aC5


A. In , both sulphur are different in nature

B. Sodium acedact Mn,SN,Fe oxalate giving different type of product

C. Aqueous solution of  are basic in nature

D.  oxidises  whereas  and  oxidies 

Answer: a,c

View Text Solution

S2O
2 +
3

OCI Θ , S2 − and CO2 −
3

NOΘ
2 I Θ Br2 CI2 NOΘ

2

31. Which of the following anion(s) is/are interfering radicate ?

A. 

B. 

C. 

D. None of these

Answer: a,b,c

View Text Solution

BO3 −
3

F Θ

PO
3 −
4

https://dl.doubtnut.com/l/_P3wxCVz97aC5
https://dl.doubtnut.com/l/_kjKBzKTUXRTp


Exercises (Multiple Correct) Part-B (Analysis Of Cations)

1. Blue coloured compound are obtained when

A.  ion react with potassium ferriyanide

B.  ion react with potassium ferrocyanide

C.  ion react with potassium ferriyanide

D.  ion react with potassium ferroyanide

Answer: a,b

View Text Solution

Fe2 +

Fe3 +

Fe3 +

Fe2 +

2. Potassium ferrocyanide is used in the detection of

A.  ions

B.  ions

Fe2 +

Fe3 +

https://dl.doubtnut.com/l/_kjKBzKTUXRTp
https://dl.doubtnut.com/l/_C2REqa8wvvMn
https://dl.doubtnut.com/l/_ivbE4Tpo9Q39


C.  ions

D.  ions

Answer: a,b,c

View Text Solution

Cu2 +

Cd2 +

3. Bromine is not recognised by is

A. Ability to turn starch iodide paper blue

B. Ability to dissolve in  to give an orange colour to the organic

layer

C. Ability to dissolve in  to give a violet colour to the oraganic

layer

D. Ability turn  solution black

Answer: c,d

View Text Solution

CS2

CS2

FeSO4

https://dl.doubtnut.com/l/_ivbE4Tpo9Q39
https://dl.doubtnut.com/l/_Zb95nfLXo11t


4.  can be obtained from  solution by the action of

A. 

B. 

C. Soluble 

D. Solution 

Answer: a,b

View Text Solution

I2 KI

CI2

Br2

CI Θ

BrΘ

5. Which of the following is not precipitate by  in presence of cone

acid soln

A. 

B. 

C. 

H2S

Cu2 +

Al3 +

Sb3 +

https://dl.doubtnut.com/l/_Zb95nfLXo11t
https://dl.doubtnut.com/l/_1Nmk4f3VBxzG
https://dl.doubtnut.com/l/_6CMsiDBwh0RY


D. 

Answer: b,d

View Text Solution

Cd2 +

6. Which of the following is (are) soluble in excess of ?

A. 

B. 

C. 

D. 

Answer: c,d

View Text Solution

NaOH

Cr(OH)3

Fe(OH)3

Al(OH)3

Zn(OH)2

7. Select the correct statement(s):

https://dl.doubtnut.com/l/_6CMsiDBwh0RY
https://dl.doubtnut.com/l/_JJi8VpRoULI3
https://dl.doubtnut.com/l/_EfP6oAB3QyEm


A. When  reacts with carbotate ion , then basic mercoury (II)

carbonate ion , then  of solution hight increase

B. When  reacts with carbonate ion , Then  of solution

highly increases

C. The excess of carbotate acts as buiffer reactys with the hydrogen

ions formed in the reaction 

D. White ppt of soble in dil 

Answer: a,c,d

View Text Solution

HgCI2

PH

HgCI2 pH

CO2 −
3 + 2H ⊕ → CO2

↑⏐⏐ H2O

MgCO3 H2SO4

8. Concentated aqueous sodium hydroxide cannot separate a mixture of

A.  and 

B.  and 

Al3 + Sn2 +

Al3 + Fe3 +

https://dl.doubtnut.com/l/_EfP6oAB3QyEm
https://dl.doubtnut.com/l/_4VF8RlgEJei1


C.  and 

D.  and 

Answer: a,c,d

View Text Solution

Al3 + Zn2 +

Zn3 + Pb2 +

9. The metal ion(s) which is/are not precipitate when is passed with 

 is ion

A. 

B. 

C. 

D. 

Answer: a,b,d

View Text Solution

H2S

HCI

Zn2 +

Ni2 +

Cd2 +

Mn2 +

https://dl.doubtnut.com/l/_4VF8RlgEJei1
https://dl.doubtnut.com/l/_s4mI4E9LRYb5
https://dl.doubtnut.com/l/_YhhHXLQlvJDB


10. An aqueous solution of a substance gives a white percipitate on

treatment with dil ,HCI which dissolves on heating .When  is passed

through the hot acidinbg solution a black precipitate is obtained .The

substances are not :

A.  salt

B.  salt

C.  salt

D.  salt

Answer: a,b,c

View Text Solution

H2S

Hg2 +
2

Cu2 +

Ag⊕

Pb2 +

11. When  gas is passed through HCI containing aqueous solution of 

 then which of the following

precipitate out ?

A. CuS

H2S

CuCI3, HGCI2, BaCI2, BiCI3 and CoCI2

https://dl.doubtnut.com/l/_YhhHXLQlvJDB
https://dl.doubtnut.com/l/_IedHNqeXXq9n


B. HgS

C. 

D. CoS

Answer: a,b,c

View Text Solution

Bi2S3

12. Which of the following is/are soluble in excess of

A. X

B. Y

C. Z

D. None of these

Answer: b,c

View Text Solution

NaOH, (X)Pb(OH)2(Y ), CuS, (Z), Al(OH)3

https://dl.doubtnut.com/l/_IedHNqeXXq9n
https://dl.doubtnut.com/l/_zxgpEJnbCd3M


13. Aqueous solution contains

 on passing 

 gas, therte is a precipitate of ……. As sulphide

A. 

B. 

C. 

D. None of these

Answer: a,b,c

View Text Solution

Zn(CH2COO)2, Cd(CH3COO)2 and Cu(CH3COO)2

H2S

Zn2 +

Cd2 +

Cu2 +

14. Which of the following paires can be septated by  in dil ?

A.  and 

B.  and 

H2S HCI

Cu2 + Cd2 +

Cu2 + Ni2 +

https://dl.doubtnut.com/l/_zxgpEJnbCd3M
https://dl.doubtnut.com/l/_vS3ZVnElQRNL
https://dl.doubtnut.com/l/_ISMpHlhBldKv


C.  and 

D.  and 

Answer: b,c,d

View Text Solution

Cu2 + Zn2 +

Hg2 + Al2 +

15. An inorganic salt solution paires on treatment with HCI will not give a

white precipitate of which metal ions?

A. 

B. 

C. 

D. 

Answer: b,c,d

View Text Solution

Hg2 +
2

Hg2 +

Zn2 +

Al3 +

https://dl.doubtnut.com/l/_ISMpHlhBldKv
https://dl.doubtnut.com/l/_t8OlLpVO1WrA
https://dl.doubtnut.com/l/_JmhxM3kRCaWm


16. Ammonium molybdate is used to test the radical

A. 

B. 

C. 

D. 

Answer: a,b

View Text Solution

PO
3 −
4

AsO
3 −
4

Cu2 +

Ag⊕

17. Which of the following chlodires are water soluble ?

A. 

B. 

C. 

D. 

AgCI

Hg2CI2

HgCI2

NaCI

https://dl.doubtnut.com/l/_JmhxM3kRCaWm
https://dl.doubtnut.com/l/_eP5ytFclBOcd


Answer: c,d

View Text Solution

18. Which of the following metal sulphide is soluble in hot and dil 

?

A. 

B. 

C. 

D. 

Answer: a,b,c

View Text Solution

HNO3

Ag2S

PbS

CdS

HgS

19. Which of the following ppt , is soluble dil , and  solution ?HNO3 NH3

https://dl.doubtnut.com/l/_eP5ytFclBOcd
https://dl.doubtnut.com/l/_DegFB5NadiIh
https://dl.doubtnut.com/l/_c1Qc9uf3RCCD


A. 

B. 

C. 

D. 

Answer: a,b,c

View Text Solution

Ag2S2O3

Ag2CO3

Ag2SO3

AgI

20. Which of the following ppt is insoluble in  solution ?

A. 

B. 

C. 

D. 

Answer: a,b

View Text Solution

NH3

AgI

Ag2S

AgCl

AgBr

https://dl.doubtnut.com/l/_c1Qc9uf3RCCD
https://dl.doubtnut.com/l/_IhCnA9d2k01t


21. Which of the following will be completely or parially dissolved in

 ?

A. 

B. 

C. 

D. 

Answer: a,b

View Text Solution

NH4OH

AgCI

AgBr

BaSO4

AgI

22. Interfering radicals interfere the test of

A. Group III radicals only

B. Group III radicals or downward

C. Cation which are present in group II fitrate

https://dl.doubtnut.com/l/_IhCnA9d2k01t
https://dl.doubtnut.com/l/_cukThiTAs3jT
https://dl.doubtnut.com/l/_vwjuJnLBPJZH


D. None of these

Answer: b,c

View Text Solution

23. Which of the following is/are correct for potassium ferrcysnide?

A. it gives a brown precipitate with  ions

B. it gives a red precipitate of mixed salt  ions

C. If in excess gives a white precipitate with 

D. It develops a deep red coloured with 

Answer: a,c

View Text Solution

Cu2 +

Cd2 +

Zn2 +

Fe3 +

24. Which of the following statement is not correct ?

https://dl.doubtnut.com/l/_vwjuJnLBPJZH
https://dl.doubtnut.com/l/_6gEfQssVyFgz
https://dl.doubtnut.com/l/_jzBJDIIY7IAF


A. Lead(II) chloride is soluble in hot water and resppears on cooding

B. in dilute HCI th e solubility of ) is higher then the hot water

C. in concetrated  is insoluble

D. Lead (II) chloride forms the complex are having white ppt ?

Answer: b,c

View Text Solution

PbCI2

HCI, PbCI2

25. Which of the following compound are having white ppt ?

A. 

B. 

C. 

D. 

Answer: a,c,d

View Text Solution

K2Fe[Fe(CN)6]

[Fe(H2O)3(SCN1)]
2 +

ZnS

Zn(OH)2

https://dl.doubtnut.com/l/_jzBJDIIY7IAF
https://dl.doubtnut.com/l/_emoeaqT7yqRh


26. Which of the following compound do not have white colour in the

form of ppt ?

A. 

B. 

C. 

D. 

Answer: a,b,c,d

View Text Solution

Bi2S3

Co[Hg(SCN)4]

CdS

BiI3

27. Out of  and  of those that dissolve in dil

HCI only one give precipitate when  is passed. Identify the

corresponding order which do not give precipitation :

A. 

Cu2 + , Ni2 + , Co2 + Mn2 +

H2S

Ni2 +

https://dl.doubtnut.com/l/_emoeaqT7yqRh
https://dl.doubtnut.com/l/_46F1EjwWTqUW
https://dl.doubtnut.com/l/_47D5BFN0Fns3


B. 

C. 

D. 

Answer: a,c,d

View Text Solution

Cu2 +

Co2 +

Mn2 +

28. Which of the following sulphides are soluble only in aqua regain ?

A. 

B. 

C. 

D. 

Answer: a,b,c

View Text Solution

NiS

CoS

HgS

CdS

https://dl.doubtnut.com/l/_47D5BFN0Fns3
https://dl.doubtnut.com/l/_AEHqG8y95qCc
https://dl.doubtnut.com/l/_LaT6kNx9mlWe


29.  


Which of the following cation may be present in white ppt ?

A. 

B. 

C. 

D. 

Answer: a,b,c

View Text Solution

Pb2 +

Hg2 +

Ag⊕

Bi3 +

30. Which of the following is/are connect process for the separation of

given ions ?

https://dl.doubtnut.com/l/_LaT6kNx9mlWe
https://dl.doubtnut.com/l/_Njd3CIdBx5jX


Exercises (Multiple Correct) Part-C(Dry Test)

A.  from the mixture of and  in aqueous solution 


 in the filtrate

B.  from the mixture of and  in aqueous solution 


 in the precipitate

C.  from the mixture of and  in aqueous solution 


 in the precipitate

D.  from the mixture of and  in aqueous solution 


 in the precipitate

Answer: a,b

View Text Solution

Cu2 + Cu2 + Cd2 +

Cu2 + + Cd2 + Add excess
−−−−−→

KCN

PassH2S
−−−−→
and filter

Cu2 +

Cu2 + Cu2 + Cd2 +

Cu2 + + Cd2 + Add excess
−−−−−→

KCN

PassH2S
−−−−→
and filter

Cu2 +

Zn2 + Zn2 + Cu2 +

Zn2 + + Cu2 + H2S+dilHCI
−−−−−−−→

Filter
−−→ Zn2 +

Fe3 + Fe2 + Fe2 +

Fe2 + + Fe3 +

NH4CI +NH3

solution and filter
−−−−−−−−−→ Fe2 +

1. Flame test is not gives by

https://dl.doubtnut.com/l/_Njd3CIdBx5jX
https://dl.doubtnut.com/l/_T9DxdhACVRxm


A.  ions

B.  ion

C.  ions

D. ions

Answer: a,c

View Text Solution

Mg2 +

Ba2 +

Be2 +

Ca2 +

2. Borax bead test is not given by

A. Copper salts

B. Nickel salts

C. Aluminium salts

D. Magnestion salts

Answer: c,d

Watch Video Solution

https://dl.doubtnut.com/l/_T9DxdhACVRxm
https://dl.doubtnut.com/l/_lFvYgGJv0KRJ


3. Which of the following respond to borax test ?

A. Nickel salts

B. Copper salts

C. Cobalt salt

D. Aliuminium salt

Answer: a,b,c

View Text Solution

4. In breax bead test,Which compound (s)is/are not formed?

A. Orthoborate

B. Metaborate

C. Double oxide

https://dl.doubtnut.com/l/_lFvYgGJv0KRJ
https://dl.doubtnut.com/l/_7tKKxDhPFO74
https://dl.doubtnut.com/l/_7iENUp3KmNAP


D. Tetrqaborate

Answer: a,b,d

View Text Solution

5. Which of the following cartion (s) will turn blue in oxidising flame ?

A. 

B. 

C. 

D. 

Answer: a,d

View Text Solution

Co2 +

Cr3 +

Ni2 +

Cu2 +

6. Which of the following substance are green ?

https://dl.doubtnut.com/l/_7iENUp3KmNAP
https://dl.doubtnut.com/l/_ZOaRAvJ7tW1W
https://dl.doubtnut.com/l/_CRfPuYIuu3FT


A. 

B. 

C. 

D. 

Answer: a,c

View Text Solution

Fe(BO2)3

Cu

Cr(BO2)3

Co(BO2)2

7. Borax heat test is given by

A. 

B. 

C.  ions

D. 

Answer: a,c,d

View Text Solution

Co2 +

Zn2 +

Cu2 +

Ni2 +

https://dl.doubtnut.com/l/_CRfPuYIuu3FT
https://dl.doubtnut.com/l/_7LI2iHVuXpDP


Exercises (Multiple Correct) Part-D (Miscellaneous)

8. Colourless salt  coloured head (Z) ,(X) can be

A. Borax

B. Microcostric salt

C. Copper sulphate

D. None of these

Answer: a,b

View Text Solution

(X)
Δ

−−→ (Y )
Cu2 + , Δ
−−−−−→

1. Select the correct statement(s):

A. Normal and polysulphides of ailkali metals are soluble in water

https://dl.doubtnut.com/l/_7LI2iHVuXpDP
https://dl.doubtnut.com/l/_NUGNowukynDW
https://dl.doubtnut.com/l/_6xRGCKx3fDUO


B. The sulphides of aluminum and magnesium can only be prepared

under dry condition as they are completely hydroysed by water

C. When filter paper is moistened with a solution of sodium

miropressium made alkline with sodium hydroxide or ammonia

solution , a purple colouration is produced with free hydrogen

sulphide

D. Thiosulphate salt of  are insoluble and dissolve in

excess of sodium thisulphide solution forming thiosulphde.

Answer: a,b,c

View Text Solution

Pb, Ag and Ba

2. 


Mixture of A contains

https://dl.doubtnut.com/l/_6xRGCKx3fDUO
https://dl.doubtnut.com/l/_eOmtMX6IN2DT


A.  anions

B.  anions

C.  anions

D. None of these

Answer: b,c

View Text Solution

CO2 −
3 , HCOΘ

3

CO2 −
3 , HSOΘ

3

SO2 −
3 , HSOΘ

3

3. Which of the following statement (s) is/are incorrect ?

A. Maganess salt give a violet borax head test in reducing flame

B. Form a mixed precipitate of  and  amonia solution

dissolve only 

C. Ferric ions give a deep green precipitate on adding potassium

ferroyanide solution

AgCI AgI

AgCI

https://dl.doubtnut.com/l/_eOmtMX6IN2DT
https://dl.doubtnut.com/l/_ZDGMikZJbhJ2


D. On boling the solution having  and  ions we get

a percipitate of 

Answer: a,c,d

View Text Solution

K Θ , Cu2 + HCOΘ
3

K2Cu(CO3)2

4. A solution of colourless salt H on holing with excess  produces

a non-flammable gas .The gas evolution ceses after sometime. Upon

addition of  dust to the same solution the gas evolution restarts .The

colourless salt(s) H is (are)

A. 

B. 

C. 

D. 

Answer: a,b

Vi T t S l ti

NaOH

Zn

NH4NO3

NH4NO2

NH4CI

(NH4)2SO4

https://dl.doubtnut.com/l/_ZDGMikZJbhJ2
https://dl.doubtnut.com/l/_dJ9yaqX7J8pC


View Text Solution

5. Which of the following statement is/are not true ?

A.  gives brown colour with 

B.  gives blood red colour with 

C. yieids colour with 

D. reacts with  then black ppt is formed

Answer: a,c,d

View Text Solution

Fe2 +
( aq )

NH4SCN

Fe3 +
( aq )

NH4SCN

Fe2 +
( aq )

K2Fe(CN)6

Ag⊕ CO2 −
3

6. Which of the following react with dil ?

A. 

B. 

C. 

H2SO4

CaCO3

KNO2

Na2S

https://dl.doubtnut.com/l/_dJ9yaqX7J8pC
https://dl.doubtnut.com/l/_ii4HnuqO5GB4
https://dl.doubtnut.com/l/_vOe9hHMuI08Z


D. 

Answer: a,b,c,d

View Text Solution

BaCI2

7. Cone  will not give any gas with

A. 

B. barium phosphate

C. megnesium borate

D. sodium oxalate

Answer: a,b,c

View Text Solution

H2SO4

ZnSO4

8. Select the correct statement(s):

https://dl.doubtnut.com/l/_vOe9hHMuI08Z
https://dl.doubtnut.com/l/_OLAFOquzqPx1
https://dl.doubtnut.com/l/_kWIBusHQpufV


A. All carbonate salt are soluble except carbonate salt alkline metals

and 

B. All carbonate salt are soluble except  white is sparingly

soluble

C. All sulphite salt are insoluble excess sulphate salts is alkline metal

and 

D. All  salt are insoluble

Answer: b,c

View Text Solution

(NH4)2CO3

NaHCO3

(NH4)2SO3

MnOΘ
4

9. Select the correct statement(s):

A. White ppt of  and  and  is soluble in dil 

 dil  and soda water

B. White ppt of is soluble in dil  dil

BaCO3 CaOC3 CaCO3

HNO3 HCI, CH3COOH

PbCO3 HNO3 CH3COOH

https://dl.doubtnut.com/l/_kWIBusHQpufV
https://dl.doubtnut.com/l/_L4u7pp9UNouV


C. White ppt of  is soluble in dil and  soluble

D.  and  are stranger acids than 

Answer: a,b,c,d

View Text Solution

AgCO3 HNO3 NH3

HCN H2HO3 H2CO3

10. Select the correct statement(s):

A. HCI is used is acid for triration of 

B. Soda correct solution is very useful when any insolves salt is

present in a given mixture

C.  gas is identify by a filter paper moistred with potassium iodate

and starch soluble

D. When zine and sulphiuritic acid reacts with sulphite, then hydrogen

sulphide gas is evolved which may be detected by holding land

acadate paper to the mouth of the test tube

SO2

SO2

https://dl.doubtnut.com/l/_L4u7pp9UNouV
https://dl.doubtnut.com/l/_ms9gu4zzJqDh


Answer: a,b,c,d

View Text Solution

11. Select the correct statement(s):

A.  appear as white precipitate when  reacts with 

B.  is unstable turming black standing due to formation of 

C.  can form soluble complax  with 

D.  is used in photography.

Answer: a,b,c,d

View Text Solution

Ag2S2O3 Na2S2O3

AgNO3

Ag2S2O3

Ag2S

S2O
2 −
3 [Ag(S2O3)2]

3 −
Ag⊕

Na2S2O3

https://dl.doubtnut.com/l/_ms9gu4zzJqDh
https://dl.doubtnut.com/l/_R4y2X41WJMVB


12. Which of the following complex(s) will have blue colour solution or ppt

?

A. 

B. 

C. 

D. 

Answer: a,b,c

View Text Solution

[Cu(NH3)4]SO4

[Cu(NH3)4](OH)2

Co[Hg(SCN)4]

K3[Co(NO2)6]

13. Which of the following statement(s) is/are with true ?

A. Soluble bicarbonates give white precipitate with  in cold

B. Soluble calcium bicarbonates give white precipitate with dilute

amonia solution followed by .

C. Bicarbonates are generlly soluble in water

MgCI2

MgSO4

https://dl.doubtnut.com/l/_462uEOrQ5Rtt
https://dl.doubtnut.com/l/_DCB4B6aBkdNo


D.  chloride forms a reddish-brown precipitate in a solution of

soluble carbonate.

Answer: b,c,d

View Text Solution

Hg(II)

14. Which of the following statement(s) is(are) correct ?

A. Soluble sulphide gives black precipitate with  solution

which is soluble in hot dilute nitric acid

B. Soluble sulphide produces a yellow precipitate with a susponsion of

a cadmium carbonate.

C. Sulphide ion reacts with sodium nitroprusside and gives a purple

colouration

D. Free  gasa reacts with form preipitate with tertradrooxide

plumbates (II) solution

AgNO3

H2S

https://dl.doubtnut.com/l/_DCB4B6aBkdNo
https://dl.doubtnut.com/l/_Oxa9EqkkAyuG


Answer: a,b,c

View Text Solution

15. Which of the following statement(s) is(are) incorrect ?

A. In thioure test for nitric ,a green coloured solution is obtained

B. it is not necessary to carry out the chromyl chloride test in a dry

test tube

C. In  the brown ring test can be performed with its water

extract

D. Suspension of  gives black ppt , with sodium sulphide

solution

Answer: a,b,c,d

View Text Solution

PbNO3

CdCO4

https://dl.doubtnut.com/l/_Oxa9EqkkAyuG
https://dl.doubtnut.com/l/_p8mFBAzOtpED
https://dl.doubtnut.com/l/_oL9conm8iZoP


16. Which of the following statement(s) is(are) correct ?

A.  white precipitate and

liberation of ammonia

B.  Red precipitate

C.  (black precipitate)  orange turbidity

D.  Blue precipitate

Answer: a,c,d

View Text Solution

[Al(OH)4]
Θ

+ NH
⊕

4 . ( aq )

Slighty heat
−−−−−−→

Pb2 +
( aq )

+ 2BrΘ
( aq )

→

BiI3 +H2O(1)
Δ

−−→

Fe3 +
( aq )

+ K4[Fe(CN)6]
( aq )

→

17. Pick out the correct statement (s):

A. Golden yellow  dissolves in hot water to give is colourless

solution

B.  ions can be sepurated by adding  ion in

acetic acid medium

PbI2

Ba2 + and Ca2 + SO
2 −
4

https://dl.doubtnut.com/l/_oL9conm8iZoP
https://dl.doubtnut.com/l/_ZUIIlN9hUrsS


C. Salt of calcium copper and nickel give a green flame colour

D. The sulphide ion gives with alkline sodium nitroprtasside ,a violet

colour

Answer: a,b,d

View Text Solution

18. Which of the following statement(s) is/are with true ?

A.  salt form soluble comlex with excess 

B.  salt form soluble comlex with aqueous ammonia

C.  salt form soluble comlex with 

D. A pieces of iron or zine when placed in  salt solution ,

precipitate copper

Answer: a,b,d

View Text Solution

Cu2 + KCN

Cu2 +

Cu2 + KI

Cu2 +

https://dl.doubtnut.com/l/_ZUIIlN9hUrsS
https://dl.doubtnut.com/l/_hzJQz8PqydTE


19. Which of the following statement(s) is/are with true ?

A. In a mixture of  and  , ammonia sulphate precipitate

only  as  buit dissolve in ammonia sulphide

forming a soluble complex

B. Barium chromate is insoluble in dilute acetic acid

C.  is soluble in  and  water white  is

insoluble

D.  and  seperation is based upon the face that in presence of

excess , only  is precipitate as suplhide on passing 

Answer: a,b,c,d

View Text Solution

Sr2 + Ca2 +

Sr2 + SrSO4 CaSO4

Cr(OH)3 NaOH Br2 Fe(OH)3

Cu Cd

KCN Cd H2S

20. Potassium cyanide is used for separating

https://dl.doubtnut.com/l/_hzJQz8PqydTE
https://dl.doubtnut.com/l/_GvKJ98ueV1RI
https://dl.doubtnut.com/l/_91Zn6NbB4eW9


Exercises (Single Correct) Part-A (Analysis Of Anions)

A.  and 

B.  and 

C.  and 

D.  and 

Answer: a,b

View Text Solution

Co2 + Ni2 +

Cu2 + Cd2 +

Mn2 + Zn2 +

Ba2 + Ca2 +

1. Which reagent is used to remove  from water

A. 

B. 

C. 

D. 

SO
2 −
4 or CI Θ

NaOH

Pb(NO3)2

BaSO4

KOH

https://dl.doubtnut.com/l/_91Zn6NbB4eW9
https://dl.doubtnut.com/l/_tcp6NIxwVSjR


Answer: b

View Text Solution

2. Which compound will not give position chroyl choride test?

A. Copper chloride, 

B. Mercuridechloride, 

C. Zine chloride, 

D. Anilmium chloride, 

Answer: b

View Text Solution

CuCI2

HgCI2

ZnCI2

C4H3NH ⊕
3 CI Θ

3. A substance on treatment with dil  liberates a colourless gas

which produces (i) turbidity with baryts water and (ii) terms acidicfied

dichromate solution green .The reaction inducates the presencve of

H2SO4

https://dl.doubtnut.com/l/_tcp6NIxwVSjR
https://dl.doubtnut.com/l/_wRTmQCPpSD1G
https://dl.doubtnut.com/l/_ZtWKZ9xOeTmp


A. 

B. 

C. 

D. 

Answer: c

View Text Solution

CO2 −
3

S2 −

SO2 −
3

NOΘ
2

4. Cone on adition to dry  givesdrown fames of :

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

H2SO4 KNO3

SO2

SO3

SO

NO2

https://dl.doubtnut.com/l/_ZtWKZ9xOeTmp
https://dl.doubtnut.com/l/_a9ha9Znh42O9


5. A white metal sulphide soluble in water is

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

CuS

Na2S

PbS

ZnS

6. A salt having  on burning with cone  gives …. Edge flame

A. Green

B. yellow

C. Red

BO3 −
3 H2SO4

https://dl.doubtnut.com/l/_a9ha9Znh42O9
https://dl.doubtnut.com/l/_18sqe2sTWzUH
https://dl.doubtnut.com/l/_YZTFsbvbyblv


D. White

Answer: a

View Text Solution

7. ,on reaction with cone  give reddish brown gas which

bleaches moist limus paper .The evolved gas is

A. Bromine

B. Mixture of bromine and HBr

C. 

D. 

Answer: a

View Text Solution

KBr H2SO4

HBr

NO2

https://dl.doubtnut.com/l/_YZTFsbvbyblv
https://dl.doubtnut.com/l/_glI6bp7D4G4n


8. An inorganic salt when heated evolves coloured gas which bleaches

moist limus paper .The evolves gas is

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

NO2

SO2

N2O

I2

9. The colour developed when sodium sulphide is added to sodium

nitroprusside is

A. Violet

B. yellow

C. Red

https://dl.doubtnut.com/l/_PVxzM2axMWJF
https://dl.doubtnut.com/l/_ZkQ5fZFTG6s5


D. Black

Answer: a

View Text Solution

10. Using dil HCI, which of the following radical cannot be confirmed

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

S2 −

S2O
2 −
3

CO2 −
3

NOΘ
2

https://dl.doubtnut.com/l/_ZkQ5fZFTG6s5
https://dl.doubtnut.com/l/_kpkH7pmaWIEc


11. The solution of a chemical compound X reacts with  solution

to form a white precipitate of y which dissolves or  to give Z

When Z is treated with dil  ,Y resppears .The chemical compound X

can be

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

AgNO3

NH4OH

HNO3

NaCI

CH3CI

NaBr

NaT

12. Precipitate of  extract is made for acid radical analysdis

because

A. All anions react with Na to give water soluble compound

Na2CO3

https://dl.doubtnut.com/l/_Le8K45ZVAEdM
https://dl.doubtnut.com/l/_netDyQUfYd4c


B. Na is more reactive

C.  is water soluble

D. None of the above

Answer: a

View Text Solution

Na2CO3

13.  can be distingnisted by

A. Limus paper

B. 

C. 

D. 

Answer: c

View Text Solution

H2S and SO2

MnOΘ
4

Pb(CH3COO)2

HCI

https://dl.doubtnut.com/l/_netDyQUfYd4c
https://dl.doubtnut.com/l/_C2KJibJtMXGs
https://dl.doubtnut.com/l/_MH4bMfBRXB9B


14. Two test tubes containing a nitrate and a bromide are treated

seprately with  brown fames evoled are passed or water . The

water will be coloured by vapours evolved from the test tube containing

A. Nitrate

B. Bromide

C. Both (a) and (b)

D. None of these

Answer: b

View Text Solution

H2SO4

15. A solution of white crystals with a soluble of  .The action of

cone  on the crystals yieds a brown gas .The crystals are of

A. 

B. 

Na2CO3

H2SO4

NaNO3

KCI

https://dl.doubtnut.com/l/_MH4bMfBRXB9B
https://dl.doubtnut.com/l/_QLqnrFRzRYbE


C. 

D. 

Answer: d

View Text Solution

Ca(ON3)2

NaBr

16. A white precipitate insoluble in cone  is formed when aqueous

solution of X  treated with barium chlorid and bromic water .The X

is

A. 

B. 

C. 

D. None of these

Answer: b

View Text Solution

HNO3

NaOH

SO3

SO2

CO2

https://dl.doubtnut.com/l/_QLqnrFRzRYbE
https://dl.doubtnut.com/l/_Bpg2dNSugR7i


17. Aqueous solution of  on reaction with  water gives

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

Na2S2O3 CI2

Na2S4O4

Na2SO4

Na2S4O6

NaOH

18. When  Layer containing both  and  is shaken with excess of 

 water the violet colour due to  disappearance of violet colour and

appereance of pale yellow colour is due to the formation of

A.  and  respectively

B.  and  respectively

CS2 Br2 I2

CI2 I2

I Θ
3 Br2

HIO3 BrCI

https://dl.doubtnut.com/l/_Bpg2dNSugR7i
https://dl.doubtnut.com/l/_QYpkyt9mLa2l
https://dl.doubtnut.com/l/_K7CGQRLXw4WD


C.  and  respectively

D.  and , respectively

Answer: b

View Text Solution

KI BrCI

I Θ BrΘ

19. Which of the followi9ng pair of acid redicals can be distinguished by

using dil ?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: b

View Text Solution

H2SO4

C2O
2 −
4 NOΘ

3

NO3O
Θ
4 NOΘ

2

CI Θ BrΘ

HCOΘ
3 CO2 −

3

https://dl.doubtnut.com/l/_K7CGQRLXw4WD
https://dl.doubtnut.com/l/_hHaGgQiXdVag
https://dl.doubtnut.com/l/_qQsnuuR7umNK


20. The aqueous solution of salt gives white ppt with lead aceetate

solution which is insolution in but water and nitric acid .The salt contains

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

CI Θ

Br2 +

CO2 +
3

SO
2 −
4

21. Some pule green crystals are strongly heated .The gases then off are

passed into a container surrounded by ice and then through a solution of

acidified  The  is decolrised, a waxy white solid iws

formed in the ice container this is dissolvesd in water .The solution will

A. Give a precipitate with silver nitric solution

KMnO4 KMnO4

https://dl.doubtnut.com/l/_qQsnuuR7umNK
https://dl.doubtnut.com/l/_G8BSy8nICObu


B. Give a precipitate with burium chloride solution

C. Turn red litmus blue

D. Give blue colour with strach solution

Answer: b

View Text Solution

22. For testing sodium carbonate solution for the present of suplhiate

ions as impurities one should add :

A. Excess hydrochloric acid and silver nitrate solution

B. Excess sulpharic acid and silver nitrate solution

C. Excess nitric acid and silver nitrate solution

D. Excess hydrochloric acid and barium chliride solution

Answer: d

View Text Solution

https://dl.doubtnut.com/l/_G8BSy8nICObu
https://dl.doubtnut.com/l/_0tmHhEhEZjdL


23. Salt A  If reddish brown layer come first , then

A.  present

B.  absent

C.  present

D.  present

Answer: a

View Text Solution

Layer test
−−−−−→

BrΘ

BrΘ

CI Θ

I Θ

24.  ? 


Comment on the product of this reaction

A. No reaction

B. White ppt of  is obtained

C. White ppt of  is formed

CaCO3(s) + CH2COOH −−−−−−−−−→
Na2C2O4solution

(CH3COO)2Ca

CaC2O4

https://dl.doubtnut.com/l/_0tmHhEhEZjdL
https://dl.doubtnut.com/l/_914JsW5GGMMf
https://dl.doubtnut.com/l/_JaVWPWEqi355


Exercises (Single Correct) Part-B(Dry Test)

D. No ppt is obtained

Answer: c

View Text Solution

1. The compound formed in the borax berax test of  in oxidising

flame is

A. Cu

B. 

C. 

D. none of these

Answer: c

View Text Solution

Cu2 +

CuBO2

Cu(BO2)2

https://dl.doubtnut.com/l/_JaVWPWEqi355
https://dl.doubtnut.com/l/_yOwK5y1SgPit


2. Potassium chromate solution is added to an aqueoius solution of a

metal chloride.The precipitate thus obatainare insoluble in acetic acid

.These are subjected to flame test , the colour of the flame is

A. Lilac

B. Apple green

C. Crimson red

D. Golden yellow

Answer: b

View Text Solution

3. Which gives violet colour with borax ?

A. 

B. 

C. 

NH
⊕

4

K ⊕

Mg2 +

https://dl.doubtnut.com/l/_iPaU1F75nARr
https://dl.doubtnut.com/l/_VpohbyFGvcOM


D. 

Answer: b

View Text Solution

Al3 +

4. Which gives violet colour with borax?

A. Fe

B. Pb

C. Co

D. Mn

Answer: d

View Text Solution

https://dl.doubtnut.com/l/_VpohbyFGvcOM
https://dl.doubtnut.com/l/_GmnzdtCZP4LJ


5. A green mass is formed in the charcoul cavity test when a colourless

salt  is fussed with chbalt mitrate (X) may contain

A. Aluminium

B. copper

C. Barium

D. Zine

Answer: d

View Text Solution

(X)

6. Carbonates of Ba,Sr and Ca are

A. White

B. Blue

C. Green

D. Yellow

https://dl.doubtnut.com/l/_L6ZbAVTKGtPW
https://dl.doubtnut.com/l/_r8EJRPGtQlC7


Answer: a

View Text Solution

7. The metal that does not give the borax head test is

A. Cr

B. Ni

C. Pb

D. Mn

Answer: c

View Text Solution

8. Which metal gives asft when is salt heated with  solid and 

 ojn a charcoal piece?

Na2CO3

Co(NO3)2

https://dl.doubtnut.com/l/_r8EJRPGtQlC7
https://dl.doubtnut.com/l/_BpNjU7anUY9U
https://dl.doubtnut.com/l/_mg9HHDpK6bdt


A. Cu

B. Mg

C. AI

D. Zn

Answer: c

View Text Solution

9. A minute of copric salt is based on borax head in reducing flame of

bansen burner, the colour of head after cooling will be

A. Blue

B. Red

C. Colourless

D. Green

Answer: d

https://dl.doubtnut.com/l/_mg9HHDpK6bdt
https://dl.doubtnut.com/l/_dtzCbG4Rky8k


Exercises (Single Correct) Part-C (Analysis Of Cations)

View Text Solution

10. Ageous solution of a sqalt (Y) is alkline to litmas On strong heating it

swells-up to give a glassy material .When cone  in added to a hot

concentrated solution of (Y) white crystals of a weak acid sepurate out

.Hence , the compound (Y) is

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

H2SO4

Na2SO4.10H2O

Ca2P4O11.10H2O

Na2B6O11

Na2B4O7.10H2O

https://dl.doubtnut.com/l/_dtzCbG4Rky8k
https://dl.doubtnut.com/l/_7W45Cm1wmCdO


1. Strongly acidified solution of barium give a white precipitate with ……

which did not dissolve even after large addition of water

A. Sodium phosphate

B. Sodium carbonate

C. Sodium salphate

D. Sodium chloride

Answer: c

View Text Solution

2. In the precipitate of the iron group in qualitativev anlysis ammonium

chloride is added before adding ammonium hydroxide to

A. Decreases concentration of  ions

B. Prevent interference by phosphate ions

C. increases concentration of  ions

OH Θ

CI Θ

https://dl.doubtnut.com/l/_kebQJJSSOfFd
https://dl.doubtnut.com/l/_M1htAtcmkRKn


D. Increases concentration of  ions

Answer: a

View Text Solution

NH
⊕

4

3.  gas on passing through an alkline solution , forms a white

precipitate .The solution contains ions of

A. Pb

B. Zn

C. Cu

D. Ni

Answer: b

View Text Solution

H2S

https://dl.doubtnut.com/l/_M1htAtcmkRKn
https://dl.doubtnut.com/l/_Z3IHUzrZ013O


4. Yellow ammonium salphide solution is a sulable resgent used for the

sepuration of

A.  and 

B.  and 

C.  and 

D.  and 

Answer: d

View Text Solution

HgS PbS

PbS Bi2S3

Bi2S3 CuS

CdS As2S3

5. An orange red precipitate abtained by passing  through an

acidified solution of an inoranganic salt indisates the presence of

A. Cadmium

B. Tin

C. Antimony

H2S

https://dl.doubtnut.com/l/_bRRNL51d1ggw
https://dl.doubtnut.com/l/_ZsEnLqcj2IPJ


D. Bismuth

Answer: c

View Text Solution

6. Excess of concentrated sodium hydroxide can separate mixture of

A.  and 

B.  and 

C.  and 

D.  and 

Answer: b

View Text Solution

Al3 + Cr3 +

Cr3 + Fe3 +

Al3 + Zn3 +

Zn2 + Pb2 +

7. Which of the following sulphide has the maximum sulubility product ?

https://dl.doubtnut.com/l/_ZsEnLqcj2IPJ
https://dl.doubtnut.com/l/_rm0YK5HsU8CT
https://dl.doubtnut.com/l/_3ArpjywmXJgL


A. 

B. PbS

C. CuS

D. MnS

Answer: d

View Text Solution

HgS

8. Lead has been placed in qualitative group analysis Ist and 2nd because

A. It shown the valency one and two

B. it forms insoluble 

C. It form lead salphide

D.  is parially soluble in water

Answer: a

View Text Solution

PbCI2

PbCI2

https://dl.doubtnut.com/l/_3ArpjywmXJgL
https://dl.doubtnut.com/l/_ApSUGzz4lYBH


9.  is

A. Black

B. Yellow

C. Orange

D. White

Answer: d

View Text Solution

As2S3

10. A black sulphide is formed by the action of  on

A. 

B. 

C. 

H2S

CaCI2

CdCI2

ZnCI2

https://dl.doubtnut.com/l/_ApSUGzz4lYBH
https://dl.doubtnut.com/l/_6HebzVWp2L9i
https://dl.doubtnut.com/l/_5NOuDN4lnKZq


D. 

Answer: a

View Text Solution

NaCI

11. The group II precipitate soluble in yellow ammonium sulphide may be

A. 

B. 

C. Both (a) and (b)

D. None of these

Answer: a

View Text Solution

As, Sb, Sn

Ca, Hg, Bi, Cd

https://dl.doubtnut.com/l/_5NOuDN4lnKZq
https://dl.doubtnut.com/l/_l2Lb3L2X7LWf


12. Nitric acid is generally not used for prepation of original solution in

anlysis of basic radicals ,because it

A. is oxidisig agent

B. is reducing agent

C. forms insoluble nitrates

D. forms solublel nitric

Answer: a

View Text Solution

13. The sulphide not soluble in hot dilute nitric acid is

A. CuS

B. ZnS

C. CdS

D. HgS

https://dl.doubtnut.com/l/_HDAVxXyWjEAX
https://dl.doubtnut.com/l/_yWg0ljs4Z00s


Answer: d

View Text Solution

14.  will precipitate the sulphide of all the metals from the solution of

chlorides of  if

A. The solution is aqueous

B. The solution is acidic

C. The solution is diute acidic

D. Any of the above solution is present

Answer: a

View Text Solution

H2S

Cu, Zn and Cd

15. To a solution of a substance gradiual addition of ammonium

hydroxide result in a black precipitate which does not dissolve in excess

https://dl.doubtnut.com/l/_yWg0ljs4Z00s
https://dl.doubtnut.com/l/_Ijpi4cYmemqV
https://dl.doubtnut.com/l/_dmgW8V6QeTHt


of  however when HCI is added to the original solution a white

precipitate is formed .The solution contained

A. Lead salt

B. Silver salt

C. Mercurous salt

D. Copper salt

Answer: c

View Text Solution

NH4OH

16. A compound is soluble in water if ammonia is added to aqeous

solution of the compound, a brown precipitate appears which is solution

in dil HCI .The compound has

A. Aluminium

B. Zine

C. Iron

https://dl.doubtnut.com/l/_dmgW8V6QeTHt
https://dl.doubtnut.com/l/_sdwgLui6W6AL


D. Cadmium

Answer: c

View Text Solution

17. A light green salt soluble in water gives black precipitate on passing

 which dissolves readily in HCI .The metal ion present is

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

H2S

Co2 +

Fe2 +

Ni2 +

Ag⊕

https://dl.doubtnut.com/l/_sdwgLui6W6AL
https://dl.doubtnut.com/l/_St8zSN0s3v61


18. All ammonium salt liberate ammonia when

A. Heated with HCI

B. Heated with caustic soda

C. Heated with 

D. Heated with 

Answer: d

View Text Solution

H2SO4

NaNO2

19. Manganese salt  The solution has purple

colour 

The colour is due to

A. 

B. A lead salt

C. 

+PbO2 + conc. HNO2 →

HMnO4

Mn(NO3)2

https://dl.doubtnut.com/l/_bFifNrvu5zsM
https://dl.doubtnut.com/l/_uwRtaOxVIiFM


D. 

Answer: a

View Text Solution

H2MnO4

20. An orange precipitate of group II is dissolve in cone HCI the solution

when treated with excess of water turn milky due to formation of

A. Sn(OH)CI

B. 

C. SbOCI

D. 

Answer: c

View Text Solution

Sb(OH)CI2

Sb(OH)2Cl

https://dl.doubtnut.com/l/_uwRtaOxVIiFM
https://dl.doubtnut.com/l/_sG1OQ4UeW4g5


21. Which of the following solution gives precipitate with  but

not with 

A. Sodium chloride

B. Sodium sulphite

C. Sodium nitrate

D. Sodium hydrogen phosphate

Answer: a

View Text Solution

Pb(NO3)2

Ba(NO3)2

22. A white powder when strongly heated gives off brown forms A

solution of this powder gives a yellow precipitate with a solution of KI

when a solution of burium choloride is added to a solution a solution of

powder a white precipitate results .This white powder may be

A. A solution sulphate

https://dl.doubtnut.com/l/_ibAaFm7cJq3i
https://dl.doubtnut.com/l/_hvqsscZBZl3L


B. Kbr or NaBr

C. 

D. 

Answer: d

View Text Solution

Ba(NO3)2

AgNO3

23. The ion that cannot be precipitate by both HCI and  is

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

H2S

Pb2 +

Cu⊕

Ag⊕

Sn2 +

https://dl.doubtnut.com/l/_hvqsscZBZl3L
https://dl.doubtnut.com/l/_6pF17vpJle20
https://dl.doubtnut.com/l/_AeCbBIO4Cc6C


24. The presence of magnessium is confimed in the qualitative amalysis by

the formation of a white crystaline precipitate of :

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

Mg(HCO3)2

MgNH4PO4

MgNH4(HCO3)3

MgCO3

25. In qualitative inorganic amalysis phosphan , if present is to be

elemenated in the apperopriate grest in order to detect the radical :

A. 

B. 

C. 

Pb2 +

As3 +

Ca2 +

https://dl.doubtnut.com/l/_AeCbBIO4Cc6C
https://dl.doubtnut.com/l/_kRrRSWgzjC1r


D. 

Answer: c

View Text Solution

Cd2 +

26.  cannot be used in place of  for the precipitate

of group V because

A. interferes in the detertion of group V

B. Cancentration of  is very low

C. Na will reacts with acid redicals

D. Mg` will be precipitate

Answer: d

View Text Solution

Na2CO3 (NH4)2CO3

Na⊕

CO2 −
3

https://dl.doubtnut.com/l/_kRrRSWgzjC1r
https://dl.doubtnut.com/l/_Li3QLv9wEv8d


27. Disodium hydrogen phosphate is used in test :

A. 

B. 

C. 

D. All of these

Answer: a

View Text Solution

Mg2 +

Na⊕

Ca2 +

28. Raddish - brown (chocolate ) ppt. is formed with :

A. 

B.  and 

C.  and 

D. None of these

Cu2 + and Fe(CN)
4 −
4

Ba2 + SO
2 +
4

Pb2 + I Θ

https://dl.doubtnut.com/l/_kQo5Lf1OEAyt
https://dl.doubtnut.com/l/_2BoxZva7EG7s


Answer: a

View Text Solution

29. Addition of  to  gives ppt. :

A. white turning to grey

B. Black turning to white

C. white turning to red

D. None of these

Answer: a

View Text Solution

SnCl2 HgCI2

30. To avoid the precipitate of hydroxide of  and 

 along with these of  and  the third group

solution should be

Ni2 + , Co2 + , Zn2 +

Mn2 + Fe3 + , Al3 + Cr3 +

https://dl.doubtnut.com/l/_2BoxZva7EG7s
https://dl.doubtnut.com/l/_vYjW71z1wVzH
https://dl.doubtnut.com/l/_TIryDEPIbxmf


A. Heated with a few drop of cone 

B. Treated with excess of 

C. Conccotrated

D. None of these

Answer: b

View Text Solution

HNO3

NH4CI

31. Which give a white precipitate with a solution of  is white

precipitate with dil  and a green flame test ?

A. Copper chloride

B. Copper nitrate

C. Lead nitrate

D. Barium chloride

Answer: d

AgNO3

H2SO4

https://dl.doubtnut.com/l/_TIryDEPIbxmf
https://dl.doubtnut.com/l/_vOSjPSLjPBNf


View Text Solution

32. In qualitative inorganic analysis of basic radicals ydochioric acid is

preferred to nitric acid for preparing a solution of given substance .This is

because :

A. Nitrates are not decomposed to selphides

B. Nitric acid contain nitrogen

C. Hydrocholoric acid is not an oxidesing agent

D. Choride are easly of converted to sulphides

Answer: c

View Text Solution

33. Addition of solution of oxalate to an aqueous solution of mixture of

 and  will precipitate :Ba2 + , Sr2 + Ca2 +

https://dl.doubtnut.com/l/_vOSjPSLjPBNf
https://dl.doubtnut.com/l/_BoGaHPde6DUk
https://dl.doubtnut.com/l/_BhJpv5Nd7RnF


A. 

B.  and 

C.  and 

D. All the three

Answer: d

View Text Solution

Ca2 +

Ca2 + Sr2 +

Ba2 + Sr2 +

34. The reagent that distinguishes between silver and lead salt is

A.  gas

B. dil. HCI solution after this dissolved in hot water

C. 

D.  solution

Answer: b

View Text Solution

H2S

NH4CI(solid) + NH4OH(solution)

NH4CI(solid) + NH4)2CO3

https://dl.doubtnut.com/l/_BhJpv5Nd7RnF
https://dl.doubtnut.com/l/_Aw0q7eXrA5fc


35. Sulphide ions react with  to form a purple

coloured compound , in the reaction the

oxidation state of ions

A. Changes from + 2 to + 3

B. Changes from + 3 to + 2

C. Changes from + 2 to + 4

D. does not change

Answer: d

View Text Solution

Na2[Fe(NO)(CN)5]

Na4[Fe(CN)5(NOS)]

36. The product of reaction of an aq solution of  salt with sodium

thiosuiphate gives

A. BiS

Bi3 +

https://dl.doubtnut.com/l/_Aw0q7eXrA5fc
https://dl.doubtnut.com/l/_2yayRn1PRE1M
https://dl.doubtnut.com/l/_e25p6yNxDB3L


B. 

C. 

D. 

Answer: b

View Text Solution

Bi2(S2O3)3

Na[Bi(S2O3)2]

[Bi2(S2O3)2]Cl2

37.  


The cations present in A are

A.  and 

B.  and 

C.  and 

D. 

K ⊕ Na⊕

K ⊕ NH ⊕
4

NH ⊕
4

Fe2 +

(Mg)2 + and Na⊕

https://dl.doubtnut.com/l/_e25p6yNxDB3L
https://dl.doubtnut.com/l/_bjfxskPXyLcS


Answer: b

View Text Solution

38. Few drop of  are added to group if before precoodinh to group

III in order to :

A. Covert  to 

B. Convert  to 

C. ppt group III

D. None of these

Answer: a

View Text Solution

HNO3

Fe2 + Fe3 +

Fe3 + Fe2 +

39. A reddish substance on heating gives of a capour which condenses on

the sides of the test tube and the substance turn blue If on cooling water

https://dl.doubtnut.com/l/_bjfxskPXyLcS
https://dl.doubtnut.com/l/_QFYC7b74TcuW
https://dl.doubtnut.com/l/_vTJrtryLS17O


is added to the residue it turm to its original colour .The substance is

A. Iodine crystals

B. Copper sulphate crystals

C. Cobalt chloride crystals

D. Zine oxide

Answer: c

View Text Solution

40. An inorganic lewise acid (X) fumes in moist air, and intensity of fumes

increases when a red dippole in  is thrugh t near to it .An acidic

solution of (X) on addition of  and  gives a percipitate

which dissolve in  solution .An acidic, solution of (X) does not give

precipitate with  Hence , the compound (X) is

A. 

B. 

NH4OH

NH4CI NH4OH

NaOH

H2S

FeCI3

AICI3

https://dl.doubtnut.com/l/_vTJrtryLS17O
https://dl.doubtnut.com/l/_lUFIVR0M5XDm


C. 

D. 

Answer: b

View Text Solution

SnCI2

ZnCI2

41. A colourless  is soluble in water and also in alcohol and amies. ON

string heating (X) gives a brown gas  and a grey residue 

dissolves in ammon to give a solution  which gives silver mirror with

aldelydes .A solution of (X) is easly reduced by iron (II) sulphide .A

solution of  also gives a brick red precipitate with potassium

dishronate solution .Hence , choose the correct qalternative

A. 

B. 

C. 

D. 

(X)

(Y ) (X)

(Z)

(X)

      X  Y   Z

Pb(NO3)2 NO2 Ag2O

    X  Y        Z

AgNO3 NO [Ag(NH3)2]
⊕

      X  Y   Z

AgNO3 NO2 Ag2O

      X  Y         Z

AgNO3 NO2 [Ag(NH3)2]
⊕

https://dl.doubtnut.com/l/_lUFIVR0M5XDm
https://dl.doubtnut.com/l/_1CfIq7CwA5eM


Answer: d

View Text Solution

42. Salt mixture  


 


Salt is consisting of cation

A.  and 

B.  and 

C.  and 

D.  and 

Answer: c

View Text Solution

dil .HCI
−−−−→

Pb2 + Hg2 +

Pb2 + Hg2 +
2

Pb2 + Ag⊕

Pb2 + , Hg2 +
2

Ag⊕

https://dl.doubtnut.com/l/_1CfIq7CwA5eM
https://dl.doubtnut.com/l/_5Eq7tLJgPlZK
https://dl.doubtnut.com/l/_jYMqzZBY3AKf


Exercises (Single Correct) Part-D (Miscellaneous)

43. 








A. 

B. 

C. 

D. 

Answer: c

View Text Solution

Hg(NO3)
2

Δ
−−→ W + X + O2

X + H2O → HNO2 + HNO3

W + HNO3 → Y + NO + H2O

Y + Na2S2O3(excess) → 2 + NaNO3

W  X      Y         Z

Hg N2O Hg(NO3).2 Na2[Hg(S2O3)
2
]

W  X      Y         Z

Hg NO Hg(NO3).2 Na[Hg(S2O3)
2
]

W  X      Y         Z

Hg NO2 Hg(NO3).2 Na2[Hg(S2O3)
2
]

W  X      Y         Z

Hg N2O3 Hg(NO3).2 Na3[Hg(S2O3)
2
]

1. Prussion blue is formed when :

https://dl.doubtnut.com/l/_jYMqzZBY3AKf
https://dl.doubtnut.com/l/_0BQmWl7x6fe6


A. Ferrous sulphate reacts with 

B. Forric sulphatee reacts with 

C. Ferrous ammonium sulphatee reacts with 

D. Ammonium sulphate reacts with 

Answer: b

View Text Solution

FeCI3

K4[Fe(CN)6]

FeCI3

FeCI3

2. A metal salt solution forms a yellow precipitate with potassium

chromate in acetic acid , a white precipitate with dil sulphuric acid but

gives no precipitate with sodium chloride or iodate .The white precipitate

abtained when sodium carbonate is added to the metal salt solution

consiste of

A. Lead carbonate

B. basic lead carbonate

C. Barium carbonate

https://dl.doubtnut.com/l/_0BQmWl7x6fe6
https://dl.doubtnut.com/l/_C3X6cWlzpmQk


D. Strontium carbonate

Answer: c

View Text Solution

3. Chemical volcano is produced on heating

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

K2Cr2O7

(NH4)2Cr2O7

ZnCr2O7

K2CrO4

https://dl.doubtnut.com/l/_C3X6cWlzpmQk
https://dl.doubtnut.com/l/_i4glUSHh1y0W


4.  Identify A.

A. 

B. 

C. 

D. All are correct

Answer: c

View Text Solution

FeCI3

Fe(SO4)3

FeSO4

https://dl.doubtnut.com/l/_Jvf4gL0SeiPs


5. 


Identify A

A. 

B. 

C. 

D. All are correct

Answer: c

View Text Solution

FeSO4

(NH4)2SO4

FeSO4(NH4)2SO4.6H2O

6.  . Then  will be

A. 

Fe + conc. HNO3
( > 80 % )

→ X X

Fe2O3

https://dl.doubtnut.com/l/_tD4iZst3qa4D
https://dl.doubtnut.com/l/_iH2osghpJGrK


Exercises (Assertion-Reasion)

B. 

C. 

D. None of these

Answer: c

View Text Solution

FeO

Fe3O4

1. Assertion :When  is passed through a solution of  no

precipitate of  is abtain until the solution is acidified with 


Reasion: The solution products constant of  is not so high as to

require a high concen tration of  for the precipitate of 

A. If both (A) and (B) are correct and (R ) is the correct explqanation of

(A)

H2S CuSO4

CuS HCI

CuS

S2 − CuS

https://dl.doubtnut.com/l/_iH2osghpJGrK
https://dl.doubtnut.com/l/_9IWAvNn0vWFr


B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

Answer: d

View Text Solution

2. Assertion : A solution of  in  gives a white prrecipitate

when acidified with 


Reasion :  decompoes in the presence of 

A. If both (A) and (B) are correct and (R ) is the correct explqanation of

(A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

AgCI NH4OH

NHO3

[Ag(NH3)2]
⊕

HNO3

https://dl.doubtnut.com/l/_9IWAvNn0vWFr
https://dl.doubtnut.com/l/_LzkhDJ9jvui0


D. If (A) is incorrect ,but (R ) is correct

Answer: a

View Text Solution

3. Assertion : A concetrated solution of  can be easilly diluted to

any extenty with water 

Reasion :  does not cahnge in composition with dilution

A. If both (A) and (B) are correct and (R ) is the correct explqanation of

(A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

Answer: c

BiCI3

BiCI3

https://dl.doubtnut.com/l/_LzkhDJ9jvui0
https://dl.doubtnut.com/l/_PTMhCnIPNu2q


View Text Solution

4. Assertion :When  is passed through a solution containing 

 and  ions ,only cadinilum precipitate as 

. 


Reasion : The oxidation state and coordination number of cadmium in

 are  and  respectively.

A. If both (A) and (B) are correct and (R ) is the correct explqanation of

(A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

Answer: b

View Text Solution

H2S

[Cu(CN)4]
2 −

[Cd(CN)4]
2 −

CdS

[Cd(CN)4]
2 −

2 4

https://dl.doubtnut.com/l/_PTMhCnIPNu2q
https://dl.doubtnut.com/l/_D1rLnnNKE58g


5. Assertion : The blue precipitate formed by the action of

 and by that of  on  have the

same composition 

Reasion :  oxides  to  and itself gets reduced to

.

A. If both (A) and (B) are correct and (R ) is the correct explqanation of

(A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

Answer: a

View Text Solution

K4[Fe(CN)6]onFe3 + K2[Fe(CN)6] Fe2 +

[Fe(CN)6]
3 −

Fe2 + Fe3 −

[Fe(CN)6]
4 −

https://dl.doubtnut.com/l/_wu13HCSbGAbE


6. Assertion :In the brown ring test for mixture through we start with

 , we end up with  in which iron is in the 

 oxidation states 


Reasion : No transfers its odd electrons to iron (II)

A. If both (A) and (B) are correct and (R ) is the correct explqanation of

(A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

Answer: a

View Text Solution

FeIISO4 [Fe(H2O)3NO]SO4

+1

https://dl.doubtnut.com/l/_XPnM0Rz6TY7A


7. Assertion :  ions do not interfere in the chromyl chloride test for

chloorides 

Reasion : A bromide on oxidation with  concentrates 

liberates  which dissolve in  to give a colourless solution

A. If both (A) and (B) are correct and (R ) is the correct explqanation of

(A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

Answer: a

View Text Solution

BrΘ

K2Cr2O7 H2SO4

Br2 NaOH

https://dl.doubtnut.com/l/_sqJYJ2VTGUjo


8. Assertion : When a solution of  is acidified with dilute HCI

and reacted with  a precipitate of  is formed 


Reasion :  is decomposed by HCI to give  ions.

A. If both (A) and (B) are correct and (R ) is the correct explqanation of

(A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

Answer: d

View Text Solution

Na2ZnO2

H2S ZnS

Na2ZnO2 Zn2 +

9. Assertion :  dissolve in an excess of an  n solution as

well as  solution 

Zn(OH)2 NaOH

NH4OH

https://dl.doubtnut.com/l/_Et39I8U5W7VG
https://dl.doubtnut.com/l/_W1qzEhK0cGGQ


Exercises (Integer) (Naming And Terminology

Reasion :  forms the soluble zincate salt in these alkline

A. If both (A) and (B) are correct and (R ) is the correct explqanation of

(A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

Answer: c

View Text Solution

Zn(OH)2

1. An aqueous solution contains  Out of

these how many ions will produce white precipitate with dilute HCl ?

View Text Solution

Hg2 + , Hg2 +
2 , Pb2 + and Cd2 +

https://dl.doubtnut.com/l/_W1qzEhK0cGGQ
https://dl.doubtnut.com/l/_eSp8cyVhz0Km


2. How many compounds liberate  on heating from the following ? 


View Text Solution

NH3

(NH4)2SO4, (NH4)2CO3, NH4CI, NH4NO3, (NH4)2Cr2O7

3. How many water molecule(s) is/are present in microcomics salt ?

View Text Solution

4. 

are separately treated with  solution in how many cases is/are

white ppt obtained ?

View Text Solution

Na2SO3, NaCl, Na2C2O4, Na2HPO4, Na2CrO4, NaNO2, CH3CO2Na

AgNO3

https://dl.doubtnut.com/l/_eSp8cyVhz0Km
https://dl.doubtnut.com/l/_xx91Bgp7uhvS
https://dl.doubtnut.com/l/_WoXUqdwukiq6
https://dl.doubtnut.com/l/_MMBUuGkLoZda


5. Find the number of compounds which have yellow colour ppt from the

given compounds : 

View Text Solution

Ag2CrO4, PbCrO4, Hg2CrO4, BaCrO4

6. Find the number of ion which are identified by dil. HCI from the

following : 

(i) (ii)  (iii)

View Text Solution

CO2 −
3 SO2 −

3 SO
2 −
4

7. Find the number of reducing agents from the following 

View Text Solution

H2S, SO3, CrO2 −
4 , Fe2 + , MnOΘ

4

https://dl.doubtnut.com/l/_qPc8SZqOoRjj
https://dl.doubtnut.com/l/_c7BQ3mmJJqsJ
https://dl.doubtnut.com/l/_6EfMtAskcRon


8. How many water of crystallisition is/are present in the ore camallite?

View Text Solution

9.  . What is

the oxidation number of central atom that is responsible for green in

compound (A) ?

View Text Solution

BO3 −
3 + Conc. H2SO4 + CH3 − CH2 − OH

ignite
−−→ (A)

Green flame

10.  are separately treated with 

 solution in how many cases is/are red ppt abtained ?

View Text Solution

Na2SO3, Na2S2O3, Na2CO3, Na2CrO4

AgNO3

11. In how many of the following reactions, one of the products is

obtained as a yellow precipitate ? 

https://dl.doubtnut.com/l/_ZC2oF8vPADzn
https://dl.doubtnut.com/l/_qfEWMyt3NmAf
https://dl.doubtnut.com/l/_HMXiF67oKsjz
https://dl.doubtnut.com/l/_jYv4E7X4mrz7


View Text Solution

Ba2 + + CrO2 −
4

−−→ Product

Hg2 + + Co2 + + SCN Θ −−→ Product

NH
⊕

4 + [PtCl6]
2 −

−−→ Product

Ag⊕ + CrO2 −
4

−−→ Product

NH ⊕
4

+ [Co(NO2)
6
]

3 −
−−→ Product

12. A solution of  ion on treatment with a solution of cobalt (II)

throcyanate gives rise to a deep blue crystalline precipitate .Then the

coordination number of mercury in the deep blue coloured compound is

View Text Solution

Hg2 +

13. How many water moleculer(s) is/are presents in compoiund which in

using in borax bead test?

View Text Solution

https://dl.doubtnut.com/l/_jYv4E7X4mrz7
https://dl.doubtnut.com/l/_zP1Ywbp9JvhY
https://dl.doubtnut.com/l/_noETOWRYSqd6


Exercises (Fill In The Blanks)

14.  Brown ring .The

oxidation number of iron in brown ring complex is

View Text Solution

Fe2 + . ( aq ) + NOΘ
3 . ( aq ) + H2SO4(conc. ) →

15. In how many of the following reactions, one of the products is

obtained is a black precipitate ? 

i.  Products 


ii.  (not in excess)  Producets 


iii.  Producets 


iv.  Products

View Text Solution

Bi(OH)3
⏐⏐↓ + [Sn(OH)4]

2 −
. ( aq ) →

Bi3 + . ( aq ) + I Θ . ( aq ) →

Ag⊕ . ( aq ) + H2S ( g )

H ⊕

−−→

[BiI4]
Θ

. ( aq ) + H2O ( I )

Dilution
−−−−→

1. Reagent used to test  ion is (a)_____.

Vi T S l i

Ni2 +

https://dl.doubtnut.com/l/_JRMwbxf2r7Ha
https://dl.doubtnut.com/l/_Ho5SkKEm55hJ
https://dl.doubtnut.com/l/_aW41jklMFiIJ


View Text Solution

2.  is made soluble in NaOH in presence of _________(a)________

when (b) _____of____(c ) ____ colour is formed and gives yellow ppt. of (d)

_____when (e ) ____ is added.

View Text Solution

Cr(OH)3

3.  and  ppt. can be separated by (a) ___when (b)___

becomes soluble due to the formation of (c ) ___ and (d) ____ remain

insoluble.

View Text Solution

Fe(OH)3 Al(OH)3

4. If orange turbidity appears on dilution with  of the solution in dil

HCl , it is due to (a) ___and (b) _____ ion is assumed confirmed.

View Text Solution

H2O

https://dl.doubtnut.com/l/_aW41jklMFiIJ
https://dl.doubtnut.com/l/_RfjUqUF0vIj2
https://dl.doubtnut.com/l/_LduZEehGSxfc
https://dl.doubtnut.com/l/_PGBCeWzgWfCS


5. Copper sub-group ppt. and arsenic salt -group ppt. are sepeated using

(a) ____.

View Text Solution

6.  is soluble in (a) ____.  is soluble in (b) _____ white  is

(c ) ___by 

View Text Solution

PbCl2 AgCl Hg2CI2

NH3

7.  and  are seprated by (a) ___formation using (b) ___in which

(c ) is more stable then (d ) ____ . On passing  gas (e ) ____. Is

precipitate.

View Text Solution

Cd2 + Cu2 +

H2S

https://dl.doubtnut.com/l/_2N4speiSbkSE
https://dl.doubtnut.com/l/_evb6bxnaBuQe
https://dl.doubtnut.com/l/_RbQPdMaa66ah


8. Precipitate of  and  takes place in presence of (a)____by

(b)____.

View Text Solution

Cd2 + Cu2 +

9.  is added along with  is group (a)_____to (b)____

conecentration of (c ) ____.

View Text Solution

NH4Cl NH4OH

10. Separation of basic radicals is based on (a) ____ and (b) ____.

View Text Solution

11. Gas that turns lime water milky and aciddied  green is (a)

____.

View Text Solution

K2Cr2O7

https://dl.doubtnut.com/l/_AeONqlYcGK4L
https://dl.doubtnut.com/l/_BR9xD0BKGxaw
https://dl.doubtnut.com/l/_HR0F0dHBZydN
https://dl.doubtnut.com/l/_2LGVVX1g6Jn6


12.  gives red colour with (s) ____ due to the formation of (b)

_____.

View Text Solution

NH4, SCN

13.  gives orange ppt , with (a) ___, which dissolves in oxicess of it

forming (b) ____ called (c ) ____.

View Text Solution

HgCl2

14.  is precipitate if its produces (a)____is (b) ____ that 

View Text Solution

Al(OH)3 Ksp

15.  is soluble in (a) _____ due to formation of (b) _____.

View Text Solution

PbSO4

https://dl.doubtnut.com/l/_2LGVVX1g6Jn6
https://dl.doubtnut.com/l/_H5jm3LzWA1LM
https://dl.doubtnut.com/l/_d9XgyGi4HZEp
https://dl.doubtnut.com/l/_rcMnswVMam6F
https://dl.doubtnut.com/l/_svlV2I6W47gb


16. A reagent that can detect any of  and  is

______(a)______.

View Text Solution

Cu2 + , Fe3 + , Zn2 + Cd2 +

17.  gives blue coloue, called(a)____ with (b)___white  gives blue

coloue, called(c)____ with (d)____.

View Text Solution

Fe2 + Fe2 +

18. Ferric alum is the indicate in the tatration of  with  when

(a)_____colour apears of the end point .

View Text Solution

Ag⊕ SCN Θ

19.  can decolorise acidified  due to the oxidation of (a)

_____and (b)____.

FeC2O4 KMnO4

https://dl.doubtnut.com/l/_svlV2I6W47gb
https://dl.doubtnut.com/l/_nC27R01ywG9E
https://dl.doubtnut.com/l/_c2ZLa9NQPdCA
https://dl.doubtnut.com/l/_ansW1fe7ulas
https://dl.doubtnut.com/l/_m2C3oOyC9piB


View Text Solution

20. Acidified  can be decolourised by (a)_____.

View Text Solution

KMnO4

21. Iron (II)sulphide gives foul smell of (a)___.

View Text Solution

22. AgBr is soluble in hypo forming (a) ______.

View Text Solution

23.  is detected by (a) _____when (b)_____is formed on the addition of 

 and cone 

View Text Solution

NOΘ
3

FeSO4 H2SO4

https://dl.doubtnut.com/l/_m2C3oOyC9piB
https://dl.doubtnut.com/l/_wFaPKaniu7cp
https://dl.doubtnut.com/l/_UI3G2vZUuej3
https://dl.doubtnut.com/l/_F7dmGEM4UDlp
https://dl.doubtnut.com/l/_tsIH2Qv1bdrZ


24. is condirned by (a) ____.

View Text Solution

CI Θ

25. Addition of one drop of  in group (III)qanalysis is to (a) _____.

View Text Solution

HNO3

26. Reagent that can detect any of  and  is (a) ____.

View Text Solution

Fe3 + , Co2 + Cu2 +

27. While testing borate, green edged flame is due so formation of (a)

_____.

View Text Solution

https://dl.doubtnut.com/l/_tsIH2Qv1bdrZ
https://dl.doubtnut.com/l/_q8bY4gIfzKaj
https://dl.doubtnut.com/l/_kFa5qVy8dqos
https://dl.doubtnut.com/l/_fr3e57CwGez2
https://dl.doubtnut.com/l/_psoEX5FliP8g
https://dl.doubtnut.com/l/_yZtE2yLjF1Lt


28. When  is passed into suspention of  in water (a) _____ is

formed.

View Text Solution

SO2 CaSO3

29. Alkaline  salt give brown ppt with  brown ppt Is called

______(a)_____.

View Text Solution

N
⊕

H4 K2HgI4

30. Even in the absence of group II,colloidal yellowish ppt appears on

passing  gas , it be due to the presence of (a) _____.

View Text Solution

H2S

31. Hypo gives (a) ____ppt. with  which changes to (b) ____.

View Text Solution

AgNO3

https://dl.doubtnut.com/l/_yZtE2yLjF1Lt
https://dl.doubtnut.com/l/_m2Uv4uejNzoK
https://dl.doubtnut.com/l/_AG7lBlDCgDWp
https://dl.doubtnut.com/l/_DfLHaEBgwqKD


32. Reddish brown colouration when neutral  is added to the 

 aq solution is due to the formation of (a) ____.

View Text Solution

FeCl3

CH3COO
Θ

33.  is solution in  (yellow ammonium sulphide) due to

the formation of (a) _____.

View Text Solution

As2S3 (NH4)
2
S2

34. On heating the salt with and ammonium molybdate ,

formation of yellow ppt indicates the presence of (a)_____or (b) _____.

View Text Solution

NHO3

35. gives white ppt. of (a)____ with (b) ____ and deep blue colour of

_____(c ) ______with (d) ____.

Cu2 +

https://dl.doubtnut.com/l/_DfLHaEBgwqKD
https://dl.doubtnut.com/l/_fR3POSvNnC9Z
https://dl.doubtnut.com/l/_z1K2fjwSTUML
https://dl.doubtnut.com/l/_GaMtlaO6v9PA
https://dl.doubtnut.com/l/_e2klKAHNGwPe


View Text Solution

36. AgCl is soluble in (a)____ and  is present in (b)_____.

View Text Solution

Ag⊕

37.  aprecipitate if (a) ____is greater than .

View Text Solution

Hg2Cl2 Ksp(Hg2Cl2)

38. Sodium carbonate and mixture are taken in (a)___ ratio white

perparing sodium carbonate extract

View Text Solution

39.  in aq solution give yellow ppt ,with (a)____ as well as with

(b)___.

BaBr2

https://dl.doubtnut.com/l/_e2klKAHNGwPe
https://dl.doubtnut.com/l/_njxnPkRsHXbU
https://dl.doubtnut.com/l/_g6yPdtxPE1BI
https://dl.doubtnut.com/l/_NlxwZ4DSojbb
https://dl.doubtnut.com/l/_f7NARV0wGZzg


View Text Solution

40. Yellow ppt of (a)_____ is formed when  reacts with excess of 

 in presence of .

View Text Solution

CoCI2

KNO2 CH3COOH

41. Microcosmic salt bent test in which  is first

doydrated which forms sodium metaposphate  as colourless

head which reacts with metals oxide giving coloured head .This test is

solable is soluble for Cu,Cr and Co .The blue heated with  and 

are due the formation of ____and ___white green head with  is due

to the formation of ____.

View Text Solution

Na(NH4)H. PO4. 4H2O

(NaPO2)

CuO CoO

Cr2O3

42. Th esodium carbobate bead test test is which  is along

instead of barax it is solution to chromiam and ____.

Na2CO3

https://dl.doubtnut.com/l/_f7NARV0wGZzg
https://dl.doubtnut.com/l/_T5nEwid0NNw8
https://dl.doubtnut.com/l/_Q0GjJ5tFiCJp
https://dl.doubtnut.com/l/_wyy787yt0iS5


Exercises (True And False )

View Text Solution

1. Tumbull's and prussiant's blue respectively are 

and 

View Text Solution

KFeII[FeIII(CN)6]

KFeII(Fe11(CN)6]

2. If of  is  then  is precipitate in a 

View Text Solution

Ksp M(OH)3 1 × 10− 12 0.001M. M 2 +

pH > 9

3. There is ppt. of solute AB if its product is greater than  value i.e. 

View Text Solution

Ksp

[A][B] > Ksp

https://dl.doubtnut.com/l/_wyy787yt0iS5
https://dl.doubtnut.com/l/_2a5Ax0ZxXehY
https://dl.doubtnut.com/l/_YPHUxjeJiKx5
https://dl.doubtnut.com/l/_SkRJ5lF8x1yT


4. When  gas is passed into a mixture containing  and  and 

 (voilet ) first appear  layer.

View Text Solution

Cl2 BrΘ I Θ

CHCI3, I2 CHCI3

5. When  gas is passed into aq  solution white ppt of ZnS is

obtained.

View Text Solution

H2S ZnCI2

6. Dilute  can be used in group of dil HCI

View Text Solution

H2SO4

7.  can be replaced by  in group III.

View Text Solution

NH4CI (NH4)2SO4

https://dl.doubtnut.com/l/_SkRJ5lF8x1yT
https://dl.doubtnut.com/l/_D1T0XnepF3Eo
https://dl.doubtnut.com/l/_095YwE7qSsku
https://dl.doubtnut.com/l/_Z0zE81IDZGII
https://dl.doubtnut.com/l/_qigNssZeXQSj


8. Alkaline solution of  gives ppt with 

View Text Solution

NH4Cl K2HgI4

9. When  and  is added as  solution, yellow ppt

of  is formed.

View Text Solution

KNO2 CH2COOH CoCl2

K4[Cu(NO2)6]

10.  is used to test 

View Text Solution

K4[Fe(CN)6] Cu2 + , Fe2 + , Zn2 + , Cd2 +

11.  is black ened by  due to formation of iodide of millon's

base

View Text Solution

Hg2Cl2 NH3

https://dl.doubtnut.com/l/_qigNssZeXQSj
https://dl.doubtnut.com/l/_YIqRbRtTFL2z
https://dl.doubtnut.com/l/_gYw7YP9iaFM8
https://dl.doubtnut.com/l/_2gD09EIWfrSC
https://dl.doubtnut.com/l/_AEgmTSv3jNwU


12. White ppt of  is soluble in aq .

View Text Solution

PbCl2 NH3

13. If acidified solution of  turm green on addition of a salt

three salt may contain .

View Text Solution

K2Cr2O7

Fe2 +

14. In group II, Formqation of whichsh tarbidity on dilation with 

indicate  .

View Text Solution

H2O

Sb3 +

15.  can be used to seprate and  .

View Text Solution

NaOH Al(OH)3 Zn(OH)2

https://dl.doubtnut.com/l/_Yx6OfFWSkMki
https://dl.doubtnut.com/l/_ej66Q98DzcQU
https://dl.doubtnut.com/l/_bPaHUTPm8v5W
https://dl.doubtnut.com/l/_TzehaUDLE7Ud
https://dl.doubtnut.com/l/_WkdC8QfuPe61


16.  can be used to make distanction between  and .

View Text Solution

NH4SCN Cu2 + Co2 +

17. Yellow ammonium sulphide (YAS) can be used to seprate SnS and

.

View Text Solution

As2S3

18.  can be used to seprate and  .

View Text Solution

NaOH Al(OH)3 Zn(OH)3

19.  is soluble is axcess of  forming sodium metaaluminate 

.

View Text Solution

AlCl2 NaOH

Na[Al(OH)4]

https://dl.doubtnut.com/l/_WkdC8QfuPe61
https://dl.doubtnut.com/l/_NmB8sNqcBajP
https://dl.doubtnut.com/l/_nvPoXpNAXljJ
https://dl.doubtnut.com/l/_No4xiJOoTw8k
https://dl.doubtnut.com/l/_cRwnrKfxOEyA


Exercises Archives (Linked Comprehension)

20.  gives yellow ppt with  as well as with .

View Text Solution

BaBr2 AgNO3 K2CrO4

1. An aqueous solution of a mixture of two inorganic salt , when reated

with diute HCI ,Gave a precipitate (P) and a filrate (Q) .The precipitate P

was found to dissolve in hot water .The filrate (Q) remained unchanged ,

white tracated with  in a difute mineral acid medium .However it gave

a precipitate (R ) with  in an ammoniacal medium .THe precipitate R

give a coloured solution (S ) when treated with  to an aq2ueous

 medium 


The pracipitate P contain .

A. 

B. 

C. 

H2S

H2S

H2O2

NaOH

Pb2 +

Hg2 +
2

Ag⊕

https://dl.doubtnut.com/l/_cRwnrKfxOEyA
https://dl.doubtnut.com/l/_eEwpAAdvQ0W3


D. 

Answer: a

View Text Solution

Hg2 +

2. An aqueous solution of a mixture of two inorganic salt , when reated

with diute HCI ,Gave a precipitate (P) and a filrate (Q) .The precipitate P

was found to dissolve in hot water .The filrate (Q) remained unchanged ,

white tracated with  in a difute mineral acid medium .However it gave

a precipitate (R ) with  in an ammoniacal medium .THe precipitate R

give a coloured solution (S ) when treated with  to an aq2ueous

 medium 


The coloured solution S contain

A. 

B. 

C. 

D. 

H2S

H2S

H2O2

NaOH

Fe2(SO4)3

CuSO4

ZnSO4

Na2CrO4

https://dl.doubtnut.com/l/_eEwpAAdvQ0W3
https://dl.doubtnut.com/l/_Dixx0bM40qYU


Exercises Archives (Multiple Correct)

Answer: d

View Text Solution

1. The reagents  and  will precipitate :

A. 

B. 

C. 

D. 

Answer: b,c

View Text Solution

NH4Cl NH3

Ca2 +

Al2 +

Bi2 +

Mg2 +

https://dl.doubtnut.com/l/_Dixx0bM40qYU
https://dl.doubtnut.com/l/_xxp57IpH2vi7


2. Which of the following statement is/are correct with reference to the

ferrous and ferric ions?

A.  gives brown colour with potassium ferricyanide

B.  gives blue precipitate with potassium ferricyanide

C.  gives red colour with potassium thlocyanate

D.  gives brown colour with ammonium thiocyatute

Answer: b,c

View Text Solution

Fe3 +

Fe2 +

Fe3 +

Fe2 +

3. A solution of coloured salt if bolling with excess NaOH produces a non

flammable gas .The gas evolvuration coases after sometime .Upon

addition of Zn dust to the same solution , the gas evolation restart .The

colourless salt (s) H is/are

A. NH4NO3

https://dl.doubtnut.com/l/_zPWS9TJPKc0l
https://dl.doubtnut.com/l/_aoUUjAM8CTxw


B. 

C. 

D. 

Answer: a,b

View Text Solution

NH4NO2

NH4CI

(NH4)2SO4

4. For the given aqaction , which of the statement (s) is (are) true?

A. The first reaction is a redox reaction

B. White precipitate is 

C. Addition of fitrate to solution gives blue colour

D. When precipitate is soluble in NqaOH solution

Zn4[Fe(CN)6]
2

https://dl.doubtnut.com/l/_aoUUjAM8CTxw
https://dl.doubtnut.com/l/_d665B9Q2taXf


Exercises Archives (Single Correct)

Answer: a,c,d

View Text Solution

1. The ion that be precipitate by both HCI and  is

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

H2S

Pb2 +

Cu⊕

Ag⊕

Sn2 +

2. The pair of compound which cannot exist togather in solution is

https://dl.doubtnut.com/l/_d665B9Q2taXf
https://dl.doubtnut.com/l/_8oZv8AsUKTzv
https://dl.doubtnut.com/l/_nYoocG6aMFNI


A. 

B. 

C. 

D.  and 

Answer: a

View Text Solution

NaHCO3 and NaOH

Na2CO3 and NaHCO3

Na2CO3 and NaOH

NaHCO3 NaCI

3. The compound insoluble in acetic aid is

A. calcium oxide

B. calcium carbonate

C. calcium oxalate

D. calcium hydroxide

Answer: c

View Text Solution

https://dl.doubtnut.com/l/_nYoocG6aMFNI
https://dl.doubtnut.com/l/_0CCY9fWC0eua


4. Which of the following pairs of ions cannot be seprated by  in

dilate HCl?

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

H2S

Bi3 + , Sn4 +

Al3 + , Hg2 +

Zn2 + , Cu2 +

Ni2 + , Cu2 +

5. Which compound is formed when excess of  is added to an

aqueous solution of copper sulphate ?

A. 

B. 

KCN

Cu(CN)2

K2[Cu(CN)4]

https://dl.doubtnut.com/l/_0CCY9fWC0eua
https://dl.doubtnut.com/l/_ZJuxHSai0opz
https://dl.doubtnut.com/l/_FFcSSKtqN6j1


C. 

D. 

Answer: d

View Text Solution

K[Cu(CN)2]

K3[Cu(CN)4]

6. An aqaeous solution of  and chrome alum is heated

with excess of  and chrome alum in heated with excess of 

and fiterad .The matrials obtained are

A. A colourless fitrate and a green residue

B. A yellow fitrate and a green residue

C. A yellow fitrate and a brown residue

D. A green fitrate and a green brown

Answer: c

View Text Solution

FeSO4. Al2(SO4)2

Na2O3 Na2O2

https://dl.doubtnut.com/l/_FFcSSKtqN6j1
https://dl.doubtnut.com/l/_8QBldWOXMJ4C


7. An aqqeous solution of a substance gives a white precipitate on

tretment with diute hydrocloric acid which which dissolves on heating

.When hydrogen sulphide is passed through the hot acidic solution a

black precipitate is obtained .The substance is a

A.  salt

B.  salt

C.  salt

D. salt

Answer: d

View Text Solution

Hg2 +
2

Cr+

Ag⊕

Pb2 +

8. A gas X is passed through water to forms a saturated solution .The

aqaeous solution on tretment aqeous solution also dissolve magnassium

ribbon with the evolation of a colourless gas Y identify X and Y

https://dl.doubtnut.com/l/_8QBldWOXMJ4C
https://dl.doubtnut.com/l/_phB4TrgBCrwy
https://dl.doubtnut.com/l/_mtuqM1oDE3F1


A. 

B. 

C. 

D. 

Answer: c

View Text Solution

X = CO2, Y = Cl2

X = Cl2, Y = CO2

X = Cl2, Y = H2

X = H2, Y = Cl2

9.  colourless gas with irritating smell 

 Green solution  and  are

A. 

B. 

C. 

D. 

Answer: a

[X] + H2SO4 → [Y ]

[Y ] + H2SO4 + K2Cr2O7 → [X] [Y ]

SO2 −
3 , SO2

CI Θ , HCI

S2 − , H2S

CO2 −
3 , CO2

https://dl.doubtnut.com/l/_mtuqM1oDE3F1
https://dl.doubtnut.com/l/_KXfPuX5YFjDz


View Text Solution

10. A sodium salt of an unknown anion when treates with  gives

white precipitate only on boling .The anion is

A. 

B. 

C. 

D. 

Answer: b,c

View Text Solution

MgCI2

SO
2 −
4

HCOΘ
3

CO2 −
3

NOΘ
3

11. A metal nitrate reacts with Ki to give a balck precipitate which on

addition of excess of KI covered to an orange colour solution .The cation

of metal nitrate in

https://dl.doubtnut.com/l/_KXfPuX5YFjDz
https://dl.doubtnut.com/l/_UJA6kvmxLpu6
https://dl.doubtnut.com/l/_Cu8xKM1d5P47


A. 

B. 

C. 

D. 

Answer: b,c

View Text Solution

Hg2 +

Bi3 +

Pb2 +

Cu⊕

12.  decolourises on addition  , the produce is

A. 

B.  get redoced is form 

C. 

D. 

Answer: d

View Text Solution

CuSO4 KCN

[Cu(CN)4]
2 −

Cu2 + [Cu(CN)4]
3 −

Cu(CN)2

CuCN

https://dl.doubtnut.com/l/_Cu8xKM1d5P47
https://dl.doubtnut.com/l/_7Cm5yW80kBoK


13. A solution when diluted with  And bolled gives a white precipitate

.On the addition of excess  the volume of the precipitate

decreases leavingg bebind a white ge3lationtious precipitate identify the

precipitate which dissolves in  :

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

H2O

NH2CINH4OH

NH4OH /NH4Cl

Zn(OH)2

Al(OH)3

Mg(OH)2

Ca(OH)2

14. The species presents in the solution when  is dissolves in water

are

CO2

https://dl.doubtnut.com/l/_7Cm5yW80kBoK
https://dl.doubtnut.com/l/_nJijK0urOIK8
https://dl.doubtnut.com/l/_Ij6TnPQEM1t5


A. 

B. 

C. 

D. 

Answer: a

View Text Solution

CO2, H2CO3, HCOΘ
3 , CO2 −

3

H2CO3, CO2 −
3

CO2 −
3 , HCOΘ

3

CO2, H2CO3

15. A solution of a metal ion when treted with KI gives a red precipitate

which dissolves in excess KI to give a colourless solution Moreever the

solution of metal ion on treatment with a solution of cobalt (II)

thoiocyamate gives rise to a deep blue crystalline precipitate .THe metal

ion is

A. 

B. 

C. 

Pb2 +

Hg2 +

Cu2 +

https://dl.doubtnut.com/l/_Ij6TnPQEM1t5
https://dl.doubtnut.com/l/_FkelqkaToeqo


D. 

Answer: b,c

View Text Solution

Co2 +

16. Passing  gas a mixture of  and  ions in

an acidified aqaeous solution precipitate

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

H2S Mn2 + , Ni2 + , Cu2 + Hg2 +

CuS and HgS

MnS and CuS

MnS and NiS

NiS and HgS

https://dl.doubtnut.com/l/_FkelqkaToeqo
https://dl.doubtnut.com/l/_MyWghD2Za7oh


17. Sulphide ores are common for the metals

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

Ag, Cu and Pb

Ag, Cu and Sn

Ag, Mg and Pb

AI, Cu and Pb

18. Upon treatment with ammonical  the metal ion that precipitate as

sulphide is

A. 

B. 

C. 

D. 

H2S

Fe(III)

AI(III)

MG(II)

Zn(II)

https://dl.doubtnut.com/l/_CVdCFiot8uJf
https://dl.doubtnut.com/l/_MqeZxsX3soa6


Answer: d

View Text Solution

19. Rossting of sulphides gives the gas X as a by product .The is a

colourless gas with choking small of burnt sulphur and cause great

damage to respectively ornge as a result of acid rain its aquneous

solution is acidic , acts as a reducing agent and its acid has never isolated

.The gas X is

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

CO2

SO3

H2S

SO2

https://dl.doubtnut.com/l/_MqeZxsX3soa6
https://dl.doubtnut.com/l/_BDu698UfD0gH
https://dl.doubtnut.com/l/_ZTHoN1YcHzPE


Exercises Archives (Assertion-Reasoning)

20. Identify the correct order solubility in apocous medium

A. 

B. 

C. 

D. 

Answer: b,c

View Text Solution

Na2S > CuS > ZnS

Na2S > ZuS > CuS

ZnS > Na2S > CuS

Na2S > CuS > ZnS

1. Statement - I: A very dilute acidic solution of  and  gives

yellow precipitate of CuS on passing  


Statement - II : The solubility product of CdS is more than that of NiS

Cd2 + Ni2 +

H2S

https://dl.doubtnut.com/l/_ZTHoN1YcHzPE
https://dl.doubtnut.com/l/_2DIM1zjZUKYT


Exercises Archives (Integer)

A. Statement - I is true ,Statement - II is also true , Statement - II is the

correct explatation for Statement - I

B. Statement - I is true ,Statement - II is true , Statement - II is the

correct explatation for Statement - I

C. Statement - I is true ,Statement - II is false

D. Statement - I is false ,Statement - II is true

Answer: a

View Text Solution

2. Statement - I : Sulphate is esimated as  not as  

Statement - I I : onic radius of  is straller than of  :

View Text Solution

BaSO4 MgSO4

Mg2 + be2 +

https://dl.doubtnut.com/l/_2DIM1zjZUKYT
https://dl.doubtnut.com/l/_J8Gx5XFGXsNN
https://dl.doubtnut.com/l/_FLpYMywgIMxp


Exercises Archives (Fill In The Blanks Ype)

1. Among  and  the

total number of BLACK coloured sulphides is

View Text Solution

PbS, CuS, HgS, MnS, AgS, NiS, CoS, Bi2S3 SnS2

1. If matel ions of group II are precipitate by  and 

without prior oxidation by conconirated  _____is not completely

precipitate

View Text Solution

NH4CI NH4OH

HNO3

2. The formula of the deep red liquid formed on warming dichromate with

KCI in concentrated sulphuric qacid is _____.

View Text Solution

https://dl.doubtnut.com/l/_FLpYMywgIMxp
https://dl.doubtnut.com/l/_KLo56gGfnOiv
https://dl.doubtnut.com/l/_hj4TqHetyTPO


Exercises Archives (True/False)

Exercises Archives (Subjective)

1. The addition of ammonium chlorode to a solution containing ferric and

magnessium ions is easential for solective precipitate of ferric hydroxide

by aqueous ammonium

View Text Solution

2. From the solution containing copper  and zine  ions

copper can be selectively precipitate using sodium sulphide.

View Text Solution

( + 2) ( + 2)

1. The precipitate of second group sulphides qualitatative analysis is

carried oud with hydrogen in the presence of hydrochloric acid but not

with nitric acid .Explain.

https://dl.doubtnut.com/l/_p0BFGV63xHOH
https://dl.doubtnut.com/l/_FrSLPO1Vfnkm
https://dl.doubtnut.com/l/_66gm1Bn3tpK3


View Text Solution

2. A white amorphous A on heating yields a colourless, non-combustible

gas B a solid C .The latter compound assumes a yellow colour on heating

and changes to white on cooling C dissolve in dilute hydrochloric acid

and the resulting solution gives a white precipitate with 

solution .A dissolve in dilute HCI with the evolution of gas , which is

identical in all respect B turns lime milky , but the milkiness disuppears

with the contimous passage of gas solution of A as obtained above gives

a white precipitate D on the addition of excess of  and passing 

 another portion of the solution gives initialy a white precipitate E

on the addition of NaOH solution , which dissolves on further addition of

base , identify the compounds A,B,C,D and E `

View Text Solution

K4Fe(CN)6

NH4OH

H2S

3. Explain the following in not more than two sentwences A solution of

 in water gives a brown precipitate on standingFeCI3

https://dl.doubtnut.com/l/_66gm1Bn3tpK3
https://dl.doubtnut.com/l/_5vZkJWC3rDE7
https://dl.doubtnut.com/l/_UQk5jyvxHTGx


View Text Solution

4. Compound A is the light crystaline solid .IT gives the following tests: 

i. IT dissolves in dilute sulphuric acid, NO gas is produced 

ii. A drop of  is added to the above solution .The pink colour

disappears

iii. Compound A is heated strongly .Gases B and C , with pungent smell ,

come out A brown D is left behind 

iv . THe gas mixture (B and C) is passed into a dchromate solution .The

solution turn green 

v. THe green solution from step (iv) gives a white precipitate E with a

soluttion of barium nitrate . 

vi. Residue D from step (iii) is heated on charcoal in a reducing flame it

gives a magnetic subsytance .Name the compounds A,B,C, D and E

View Text Solution

MnO4

https://dl.doubtnut.com/l/_UQk5jyvxHTGx
https://dl.doubtnut.com/l/_mQaH6AYQ3g9B


5. When  of white solid X was heated, of acid gas A that turned

lime water milky was driven off togather with  of a gas B which

condensed to a colourless liquid The solid that remained Y dissolved in

water to give an alkline solution , which with excess barium chloride

solution gave a white precipitate Z .THe precipitate effecversced withh

acid giving carbon dioxide identify A,B and Y and write the equation for

the decomposition of X

View Text Solution

16.8g 4.4g

1.8g

6. What happens when 

i. Hydrogen is bubbled through an aqueous solution of sulphur dioxide .

ii . Aqueous ammonia in added dropwise to a solution of copper sulphate

till it is in excess

iii Tin in treated with concentrated nitric acid 

iv  solution is treated with sodium hydroxide and then with

hydrogen peroxide 

v.  is treated with nitric acid

CrCI3

Pb3O4

https://dl.doubtnut.com/l/_4sG1psncnBKh
https://dl.doubtnut.com/l/_VJmG0Lwqwmbl


View Text Solution

7. Write the balanced equation for the ereaction when ''a mixture of

potassium chlorate acid and sulphuric acid is heated.''

View Text Solution

8. Menion the products formed in the following 

i. Zine oxide is treated with excess of sodium hydroxide solution 

ii. Iodine is added to a solution of stamous chloriude 

iii. Sulphur dioxide gas, water vapour and air are passed over heated

sodium chloride

View Text Solution

9. Write the balanced equition for the following ''Potassium

permanganate is reacted with warm solution of oxalic acid in the

oresence of sulphuric acid''

https://dl.doubtnut.com/l/_VJmG0Lwqwmbl
https://dl.doubtnut.com/l/_WTBf0WDhs9LX
https://dl.doubtnut.com/l/_qf1nEcTBJoFs
https://dl.doubtnut.com/l/_COdu0skidf4e


View Text Solution

10. A mixture of two salt was treated as follows : 

i. The mixture was heated with magnanese dioxide and concentrated

sulphuric acid , when a yellowish -green gas was liberated.

ii. The mixture on heating with sodium hydroxide solution gave a gas

which turned red litmus blue 

iii. Its solution in water gave a blue precipitate with potassium

ferricyanide and red colourtion with ammonium thiocynate

iv. The mixture was boiled with potassium hydroxide and the librated gas

was bubbled through an alkline solution of  to give a brown

precipitate identify the two salts gives ionic equation for the reaction

involved in the tests (i) , (ii) and (iii).

View Text Solution

K2HgI4

11. Write the balancexd chemical equation for the following 

i. Silver chloride is reacted with equation sodium cyanide and the product

https://dl.doubtnut.com/l/_COdu0skidf4e
https://dl.doubtnut.com/l/_k2zZPtlSkmnx
https://dl.doubtnut.com/l/_R0e3ze4s2VZ9


thus formed is allowed to react with zine in an alkline medium .

ii Cobalt (II) solution reacts with  in acetic acid medium

View Text Solution

KNO2

12. The gas librated , on heating a mixture of two salts with  give

sa reddish brown precipitate with an alkline solution of  the

aqeous solution of the mixture on treatment with  gives awhite

precipitate which is sparingly soluble with  and concentrated

red vapour of A are produced .The aqueous solution of the

mixture gives a deep -blue colouration B with potassium ferrcyanide

soluble identify the redicals in the gives mixture and write the balanced

equation in the gives mixture and write the balanced equations for the

formation of A and B

View Text Solution

NaOH

K2HgI4

BaCI2

K2Cr2O7

H2SO4

13. Give reacts in one two sentence for the followin g ''The hydroxide of

aluminum and ion are insoluble in water However, NaOH is used to

https://dl.doubtnut.com/l/_R0e3ze4s2VZ9
https://dl.doubtnut.com/l/_h3Cb9sIQ0cbz
https://dl.doubtnut.com/l/_IPczfWMzR7Xc


separate one from other .''

View Text Solution

14. In the fopllowing reaction , identify the compound / rteaction

condition represented by A and B 

View Text Solution

PbS
Heat in air
−−−−−→ A + PbS

B
−−→ Pb + SO2

15. A light bluish-green crystaline compound responds to the following

tests

i. Its aqueous solution gives a brown precipitate or colourtion with alkline

 solution 


ii Its aqueous solution gives a blue colour with  solution 


iii Its solution in hydrochloric acid gives a white precipitate with 

solution 

Identify the ions present and suggest the formula of the compound

Vi T t S l ti

K2[HgI4]

K3[Fe(CN)6]

BaCI2

https://dl.doubtnut.com/l/_IPczfWMzR7Xc
https://dl.doubtnut.com/l/_dRrpw20utDbM
https://dl.doubtnut.com/l/_UkRdQYUtDiA7


View Text Solution

16. The acdic aqueous solution of ferrous ion forms a brown complex in

the presence of  by the following two steps 


Complex and balance the equations.

View Text Solution

NOΘ
3

[Fe(H2O)6]
2 +

+ NOΘ
3 + H ⊕ → …. + [Fe(H2O)6]

3 +
+ H2O[Fe(H2O

17. An orange solid A on heating gave qa green residue B, a colourless gas

C , and water vapour .The dry gas C on passing over beated Mg gave a

white solid D.D on reaction with water gave a gas E formed dense white

furmjes with HCI identify A to E and give the reaction involved

View Text Solution

18. A scalet compound A is treated with concenbtrated to gave a

chocolate brown precipitate B. The precipitate is filtered and the filtrate is

HNO3

https://dl.doubtnut.com/l/_UkRdQYUtDiA7
https://dl.doubtnut.com/l/_GAeBamTWqM8I
https://dl.doubtnut.com/l/_LkYBiV0zNxuu
https://dl.doubtnut.com/l/_2pNcxedvxSp1


neurralised with NaOH Addition of KI to the resulting solution gives a

yellow precipitate C the brown precipitate B on warming with

concentrated in the presence of  produces a pink

coloured solution due to the formation of D identify A, B,C, and D write

the reaction sequence.

View Text Solution

HNO3 Mn(NO3)2

19. The gradiual addition of KJ solution to  solution identify

produces a dark precipitate which disssloves in excess of KJ to give a

yellow solution .Write the chemical equation for the above reactions.

View Text Solution

Bi(NO3)3

20. Calcium burns in nitrogen to produce a white powder which dissolve

in sufficient water to produce a gas A and an alkline solution .The

solution on esposure to air produces a this solid layer of B on the surface

identify the compound A and B.

Vi T t S l ti

https://dl.doubtnut.com/l/_2pNcxedvxSp1
https://dl.doubtnut.com/l/_IKsGA9c33GCh
https://dl.doubtnut.com/l/_SX2bCyXcY9d0


View Text Solution

21. A colourless inorganic salt A decomposes completely as about 

to give only produce B and C liquid at room temprature and neutral to

moist paper .white the gas B is a netrual oxide .White phospydras burns

in excess of B to produce a strong white dehydrating agent write the

balanced equation for the reaction involved in the above process

View Text Solution

250∘C

22. Element A burns in nitrogen to give an ions compound B reacts with

water to give C and D .A solution of chemes ''milky'' on bubbling carbon

dioxide identify A,B,C and D

View Text Solution

23. During the quation analysis of a mixture containing

 gas is passed therough an acidified solutionCu2 + and Zn2 + ionsH2S

https://dl.doubtnut.com/l/_SX2bCyXcY9d0
https://dl.doubtnut.com/l/_pNRx3Pqz1tGO
https://dl.doubtnut.com/l/_To7W1uU89qs8
https://dl.doubtnut.com/l/_UmrpNsaECukA


containing these ions in order to test  alone explane

View Text Solution

Cu2 +

24. An aqueous solution containing 1 mol of  and 2 mol of Nal is

orange in colour .On addition od excess NaI , the solution becomes

colourless .The orange colour reappears on subsequent addition of

.

View Text Solution

HgI2

NaOCl

25. A white solid is either  or . A piece of red litmus paper

turn when in is freshly made aqueous solution of the white solid.

I Identify the substance and explain with balanced equation 

ii. Explain what would happen to the red litmus if the white solid were the

othere compound

View Text Solution

Na2O Na2O2

https://dl.doubtnut.com/l/_UmrpNsaECukA
https://dl.doubtnut.com/l/_E6aOXhdQF1jR
https://dl.doubtnut.com/l/_pFX3fxIIU8Lq
https://dl.doubtnut.com/l/_Sb4ADVIBlFyz


26. Write theh chemical reaction associated with the ''brown ring test''

View Text Solution

27. An aqueous blue colour solution of a transition metal sulphate reacts

with  in acidic medium to give a black precipitate A which is

insolution in warm aqueous solution of KOH .The blue solution on

tretment with KJ in weakly acidic medium turns yellow and produces a

white precipitate B identify the transition metal ion write the chemical

reaction involved in the formation of A and B

View Text Solution

H2S

28. Write the chemical reaction associated with the ''borax beat test'' of

cobalt (II) oxide

View Text Solution

https://dl.doubtnut.com/l/_Sb4ADVIBlFyz
https://dl.doubtnut.com/l/_YeN3gopXnqvW
https://dl.doubtnut.com/l/_SyOf5LWJCv5q


29. A white substance A reacts with dilute  is produce a colourless

B and acidified  solution produces a green solution and a

slighly coloured precipitate D .The substance B to burns in air to produce

a gas E which reacts with B ito yied D and a colouless liquid .Anhyhdrous

copper sulphate is turned blue on addition of this colourless liquid

addition od aqueous  to C produce first a precipitate

which dissolve in the excess of the respective reagent to produce a clear

solution in each case identify A,B,C, and E. Write the equation of the

reaction involved.

View Text Solution

H2SO4

K2Cr2O7

NH3 or NaOH

30. When a white crystalline compound X is heated with  and

concentrated  a reddish brown gas A is evolved On passing A into

saustic soda solution ,a yellow coloured solution of B with acetic B is

obtained .Neutradiding the solution of B with acetic acid and on

obtaijned when X of lead acetate with NaOH solution precipitate C is

obtained when X is heated with NaOH solution a coloueless gas is

K2Cr2O7

H2SO4

https://dl.doubtnut.com/l/_3PVXjQ9j5cuv
https://dl.doubtnut.com/l/_34hQSLQbsxQi


evolved and on passing the gas into  solution a reddish brown

precipitate D is formed identify A,B,C and D and X write the equation of

the reaction involved.

View Text Solution

K2HgI4

31. Identify the following 




Also mention the oxidation state of S in all the compounds

View Text Solution

Na2CO3

SO2

−−→ A
Na2CO2

−−−−→ B
Element S
−−−−−→ C

I2

ToD

32. A mixture consists of A (yellow solid) and B (colourless solid) which

gives filac colour in flame.

a. The mixture gives black precipitate C on passing  gas 


b. C is soluble in aqua and on evaportation of aquaregain and adding

 gives greyish -black precipitate D 


c. The salt solution with  gives a brown precipitate .


H2S

SnCI2

NH4OH

https://dl.doubtnut.com/l/_34hQSLQbsxQi
https://dl.doubtnut.com/l/_ycaVCTxnQNWp
https://dl.doubtnut.com/l/_HceLT15ws2eZ


i. The sodium extract of the salt with  solution

which is insoluble in 


Identify A and B and the precipitate C and D

View Text Solution

CCI4 /FeCI3AgNO2

NH3

33.  is insoluble in andydrous HF but when little KF is added to the

compounds it becomes soluble On addition of  is precipitate

write the balanced chemical equation .

View Text Solution

AlF3

BF3, AlF3

34.  


Identify the metal  and hence . Explain the difference in colour of 

 and A.

View Text Solution

B
White fumes
having smell

Moist air
←−−−− MCI4

M=Transition
element colourless

Zn
−−→ A

Purple
colour

M MCl4

MCl4

https://dl.doubtnut.com/l/_HceLT15ws2eZ
https://dl.doubtnut.com/l/_gvt0fuRA96Dm
https://dl.doubtnut.com/l/_ne7lmW7EdTbu


Ex 8.1

1. Identify (A) to (H) 

Mineral  


 black ppt 


 (black ppt) 


separrated from (C ) by fitration 

 (blue coloured solution) 


 chocolate colourer ppt 


 blue 

View Text Solution

(A)
dil .H2SO4

−−−−−→ (B) + (C) + (D)(gas)

(D) + (CH3COO)2Pb
Δ

−−→

(B) + (C)
(D )
−−→ E

(E) + HNO3
dil

Δ
−−→ (F )

(F ) + K4[Fe(CN)6] →

(C) + K3[Fe(CN)6] → (H)

2. An aqueous of salt (A) gives a white crystalline precipitate (B) with

 solution .The fitrate gives a black precipitate (C) when  is

passed through it compound (B) dissolve in hot water and the solution

gives yellow precipitate (D) an tratement with potassium iodide and on

cooling .The compound (A) does not give are gas with dilute HCI but

NaCI H2S

https://dl.doubtnut.com/l/_WwrvGUVuvKL5
https://dl.doubtnut.com/l/_USDhywJwrntN


liberates a reddish brown gas on heating identify the compounds (A) to

(D) giving the involved equations.

View Text Solution

3. A white amorphous powder (A) when heated given by a colourlesss gas

(B) , white turms water milky and the residue (C ) which is yellow when

but white when cold .The resider (C )dissolve in diulite HCIand the

resulting solution given given a white precipitate on potassium

ferrcyanide solution (A) dissolve in dilute HCI with the evolation of a gas

which is obtained above given a white precipitate (D) on addition of

excess of  and on passing  Another portion of this solution

gives initially a white precipitate (E ) on addition of  which

dissolve in excess of it identify (A) to (E ).

View Text Solution

NH4OH H2S

NaOH

4. Compound (A) is a light green crystalline solid it gives the following

tests 

https://dl.doubtnut.com/l/_USDhywJwrntN
https://dl.doubtnut.com/l/_PcA7WgtGUKJI
https://dl.doubtnut.com/l/_ZxQqfJvNIRYb


i. If dissolves in dilute sulphuric acid .No gas is produced 

ii A drop of  is added to the above solution .The pink colour

disappears 

iii Compound (A) is heated atrongly green (B) and (C ) with pungent smell

came out .A brown residue (D) is lrft behind 

iv The gas mixture  is passed into a dichromate solution

.THe solution turms green 

THe green solution from step (iv) gives a white precipitate (E ) with a

solution of barium nitrate 

vi . Residue (D) from (v) is heated on charcoal in reducing flame it gives a

magnetic substance Identify the compound (A) to (E )

View Text Solution

MnO4

[(B) and (C)]

5. Identify A to E 

https://dl.doubtnut.com/l/_ZxQqfJvNIRYb
https://dl.doubtnut.com/l/_UaI7iwQ8M4Wq


View Text Solution

6. Identify A to F 

View Text Solution

7. Identify A to D 

https://dl.doubtnut.com/l/_UaI7iwQ8M4Wq
https://dl.doubtnut.com/l/_JdVegz3atHIt
https://dl.doubtnut.com/l/_MZYga3VEGRk6


View Text Solution

8. Identify A to L 

View Text Solution

https://dl.doubtnut.com/l/_MZYga3VEGRk6
https://dl.doubtnut.com/l/_x41R4fZSF5cE


9. Identify A to G 

View Text Solution

10. Identify A to D 

View Text Solution

https://dl.doubtnut.com/l/_leIf8MVLIqG8
https://dl.doubtnut.com/l/_RE3gDcTPA1t7
https://dl.doubtnut.com/l/_3hKsN2nGTEsr


11. Identify A to E 

View Text Solution

12. Identify A to H 

View Text Solution

https://dl.doubtnut.com/l/_3hKsN2nGTEsr
https://dl.doubtnut.com/l/_ESA7g60n2FUg
https://dl.doubtnut.com/l/_FMPN3dgWP6aF


13. Identify A to C 

View Text Solution

14. Identify A to D 

https://dl.doubtnut.com/l/_FMPN3dgWP6aF
https://dl.doubtnut.com/l/_aVZR17jKY125


Ex 8.2

View Text Solution

1. Yellow coloured solution of  changes in light green when

A.  is added

B. is added

C.  gas is added

D. All true

Answer: d

View Text Solution

FeCI3

SnCI2

Zn

H2S

2.  does not give blue colour with  but on its reaction

with (X) ,blue colour oppears (X) can be

Fe2 + K4[Fe(CN)6]

https://dl.doubtnut.com/l/_aVZR17jKY125
https://dl.doubtnut.com/l/_ct3wchJEQY9D
https://dl.doubtnut.com/l/_Fo2YYq3IlsG2


A. 

B. 

C. 

D. 

Answer: a

View Text Solution

MnOΘ
4 /H ⊕

H2SO4

NH3

HCI

3.  and  ppt are sepurated by

A. Aq 

B. 

C. 

D. 

Answer: c

View Text Solution

Fe(OH)3 Cr(OH)3

NH3

HCI

NaOH /H2O2

H2SO4

https://dl.doubtnut.com/l/_Fo2YYq3IlsG2
https://dl.doubtnut.com/l/_tCJp4tGzETdC


4. Turnbull's blue and Prassian's blue respectively are I.

 ,II.  ,III.  ,II.

 ,II

A. I,III

B. I,III

C. III,IV

D. IV,III

Answer: c

View Text Solution

FeII[FeII(CN)6]
2 −

FeIII[FeIII(CN)6] FeII[FeIII(CN)6]
Θ

FeIII[FeII(CN)6]
Θ

5. Which of the following are soluble in excess of 


(X) :  ,(Y) :  ,(Z) : 

A. X,Y,Z

NaOH

As2S3 CuS AICI3

https://dl.doubtnut.com/l/_tCJp4tGzETdC
https://dl.doubtnut.com/l/_VR1G5HI0SrJX
https://dl.doubtnut.com/l/_fQwyqa2ijuAB


B. Y,Z

C. X,Z

D. X,Y

Answer: c

View Text Solution

6. A mixture on heating gave a gas used as an anaesthetic soluble in

water forming cis , and trans dibasic acid  of gas occupes 

mixture contain

A. 

B. 

C. 

D. 

Answer: a

1.1g 0.56atSTP

NaNO3 + NH4CI

NaNO2 + NH4CI

CaCO3 + MgCO3

NH4CI + NaSO4

https://dl.doubtnut.com/l/_fQwyqa2ijuAB
https://dl.doubtnut.com/l/_d8fT9SwutMUp


View Text Solution

7. Aq solution contains  and 

 on passing  gas there is precipitate of …….. As

sulphide.

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

Zn(CH3COO)2Cd(CH3COO)2

Cu(CH2COO)2 H2S

Zn2 + , Cd2 +

Cu2 + , Cd2 +

Zn2 + , Cu2 +

Zn2 + , Cu2 + , Cd2 +

8. Ferric alum gives red colour with  due to formation of

A. 

NH4SCN

AI(SCN)3

https://dl.doubtnut.com/l/_d8fT9SwutMUp
https://dl.doubtnut.com/l/_iQxctI1q6fd9
https://dl.doubtnut.com/l/_0E6IS2aHEBd0


B. 

C. 

D. `

Answer: c

View Text Solution

[Fe(SCN)3]
Θ

Fe(SCN)3

Fe(SCN)3]
2 +

9. Colourless salt  coloured head (Z) (X) can be

A. borax

B. micro cosamic salt

C. both

D. none

Answer: c

View Text Solution

(X)
Δ

−−→ (Y )
Cu2 + , Δ
−−−−−→

https://dl.doubtnut.com/l/_0E6IS2aHEBd0
https://dl.doubtnut.com/l/_T8E7a8uQTP2y
https://dl.doubtnut.com/l/_U3F0nm9dNkoi


10.  is reddish

brown coloured gas soluble in  forming are

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

KCI + concH2SO4 + K2Cr2O7
Δ

−−→ (X)
NaOH
−−−→ (Y ), (X)

NaOH (Y ), (X) and (Y )

Cr2OCI2Na2CrO3

Cr2O2CI2Na2CrO3

CrO2CI2Na2CrO6

CrO2CI2Na2CrO4

11. Aqueous solution of  , gives yellow ppt with

A. 

B. 

C. both

D. none

BaBr2

K2CrO4

AgNO3

https://dl.doubtnut.com/l/_U3F0nm9dNkoi
https://dl.doubtnut.com/l/_2CHDmiTNCyqN


Answer: c

View Text Solution

12.  


The change is based on change uin pH probabole values of x and y can be

A. 

B. 

C. 

D. change is independent of pH

Answer: a

View Text Solution

Cr2O
2 −
7

Orange

pH =x

−−−−→
←−−−−−

pH =y

CrO
2 −
4

green

8, 6

8, 10

4, 6

13.  would separate the following in H2S pH < 7

https://dl.doubtnut.com/l/_2CHDmiTNCyqN
https://dl.doubtnut.com/l/_E8jckhkylKKP
https://dl.doubtnut.com/l/_ak0xob46Bw8r


A. 

B. 

C. 

D. 

Answer: c

View Text Solution

Zn2 + , Co2 +

Cu2 + , Cd2 +

Cu2 + , Cr3 +

Cu2 + , As3 +

14. Solution of (X) in dil  white turbidily 

back ppt (Y),(Y) is solution in

A. 

B. YAS

C. 

D. HCI

Answer: c

HCI + H2O → (X)
H2S /HCI

−−−−−→

NaOH

NHO3

https://dl.doubtnut.com/l/_ak0xob46Bw8r
https://dl.doubtnut.com/l/_jQT0i0wfJyQR


View Text Solution

15.  blue precipitate

anbydride (in enthereal layer) Blue colour is due to

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

K2Cr2O7 + concH2SO4 + H2O2ether →

CrO3

H2CrO4

H2Cr2O3

CrO3

16. There is foul small in presence of moisare with

A. 

B. 

AICI3

AI2(SO4)3

https://dl.doubtnut.com/l/_jQT0i0wfJyQR
https://dl.doubtnut.com/l/_1u5Yq8FgQ1kG
https://dl.doubtnut.com/l/_IWOBLxbV4o3n


C. 

D. 

Answer: c

View Text Solution

FeS

FeSO4

17. given white ppt hypo changing to black ofter some time .Black

ppt is of

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

AgNO3

Ag2S2O3

Ag2SO4

Ag2S4O6

Ag2S

https://dl.doubtnut.com/l/_IWOBLxbV4o3n
https://dl.doubtnut.com/l/_pxXWK97EJDV6
https://dl.doubtnut.com/l/_ZBuhM6v248xj


18.  and  both lime water (A) milky ,  also turns 

 green  is solution in pyrogallal (C ) turming it

black .These gases are to the detected in order by using these reagents

.The order is

A. (A),(B) ,(C )

B. (B),(C) ,(A)

C. (B),(A) ,(C )

D. (A),(C) ,(B)

Answer: c

View Text Solution

SO2 CO2 SO2

K2Cr2O7 /H ⊕ (B) O2

19. Aluminium sulphate (X) is slightly insoluble in water it is converted

into soluble sulphate by using  in the precipitate of sodium

carbonate extract .Mole of  required for conplate conversion of 

mole of (X) into soluble is

Na2CO3

Na2CO3 1

https://dl.doubtnut.com/l/_ZBuhM6v248xj
https://dl.doubtnut.com/l/_yYRhOVKvz8Sf


A. 

B. 

C. 

D. 

Answer: c

View Text Solution

1

2

3

4

20.  gives blue colour with  due to formation of

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

CoCI2 NH4SCN

(NH4)2[Co(SCN)4]

(NH4)4[Co(SCN)6]

(NH4)3[Co(SCN)6]

(NH4)[Co(SCN)4]

https://dl.doubtnut.com/l/_yYRhOVKvz8Sf
https://dl.doubtnut.com/l/_7OXHvJNaKpB9


21.  ,(A) and (B) respectively are

A. 

B. 

C. both (X)

D. both (Y)

Answer: a

View Text Solution

HgCI2 + excess ofKI → (A) −−→
NH3

(B)

(Y ), (X)

22.  can be used to test ion or more out of 

A. only

B. 

C. 

NH4SCN Fe3 + , Co2 + , Cu2 +

Fe3 +

Co2 + , Cu2 +

Fe2 + , Cu2 +

https://dl.doubtnut.com/l/_7OXHvJNaKpB9
https://dl.doubtnut.com/l/_rPPN2wodcWCi
https://dl.doubtnut.com/l/_StRzEBTG1Ai3


D. all

Answer: d

View Text Solution

23.  can be used to detect one or more out of 

A. 

B. 

C. all but 

D. all but 

Answer: d

View Text Solution

K4[Fe(CN)6]

Fe2 + , Fe3 + , Zn2 + , Cu2 + , Cd2 +

Fe2 + , Fe3 +

Fe3 + , Zn+ , Cu2 +

Fe2 +

Fe2 +

https://dl.doubtnut.com/l/_StRzEBTG1Ai3
https://dl.doubtnut.com/l/_HsooY5ao8TzE


24. Aqueous solution of borax reacts with two mol of acids .This is

because of

A. formation of  mol of  only

B. formation of  mol of  only

C. formation of  mol each of  and only

D. formation of  mol each of  and  of which

 reacts with acid

Answer: d

View Text Solution

2 B(OH)3

2 [B(OH)4]
Θ

1 B(OH)3 [B(OH)4]
Θ

2 [B(OH)4]
Θ

B(OH)3

[B(OH)4]
Θ

25.  is soluble in  due to formation of

A. 

B. 

C. 

Ag2S NaCN

Na[Ag(CN)2]

Ag(CN)2

Na2[Ag(CN)3]

https://dl.doubtnut.com/l/_dD9wnzG0oA0p
https://dl.doubtnut.com/l/_bl04iaF1kc69


D. 

Answer: a

View Text Solution

Na2[Ag(CN)2]

26. A compound give violet flame rest and gives a white ppt with 

.The compound is

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

AgNO3

NaCI

KCI

BaCI2

CaCI2

https://dl.doubtnut.com/l/_bl04iaF1kc69
https://dl.doubtnut.com/l/_2dxXl16jvZXr


27. Bromine vapours turms ……..paper blue

A. Starch iodide

B. Starch

C. Lead acetate

D. Methyl orange

Answer: a

View Text Solution

28. Solution of a salt in sulphanilic acid a naphithy lamine give red ppt

,due to

A. 

B. 

C. 

D. 

BrΘ

I Θ

NOΘ
2

NOΘ
3

https://dl.doubtnut.com/l/_Ubhzo1Ja8m82
https://dl.doubtnut.com/l/_3pqXDx7OULM7


Answer: b

View Text Solution

29. Solution of a salt in dil  produces deep blue colour with starch

iodide solution .The salt contains

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

H2SO4

BrΘ

I Θ

NOΘ
2

NOΘ
3

30. The gas which turns mercurous nitrate paper black is

https://dl.doubtnut.com/l/_3pqXDx7OULM7
https://dl.doubtnut.com/l/_kLGE0Wdfephb
https://dl.doubtnut.com/l/_Bsy5NM7OJGuu


A. 

B. 

C. 

D. 

Answer: a

View Text Solution

NH3

CI3

SO2

SO3

31. A mixture when heated with dil  does not coolve brown

vapours but with cone  brown with  soin do not give any

precipitate .The mixture contain

A. 

B. 

C. 

D. 

H2SO4

H2SO4 AgNO3

NOΘ
2

NOΘ
3

I Θ

BrΘ

https://dl.doubtnut.com/l/_Bsy5NM7OJGuu
https://dl.doubtnut.com/l/_BAj1Z7syUMIw


Answer: b

View Text Solution

32. To solution of a salt in acid medium  is added a white ppts

repidly changing to yellow orange , brown and finaly is obtained .This isd

due to the presence of

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

AgNO3

SO2 −
3

S2O
2 −
3

CH3COO
Θ

S Θ
2

https://dl.doubtnut.com/l/_BAj1Z7syUMIw
https://dl.doubtnut.com/l/_hnXrsbFSlgPS


33. Nitrite and mitrate both respond to ring test Nitrate are removed by

meating with

A. conc 

B. 

C. Conc 

D. 

Answer: b

View Text Solution

HNO3

NH4CI

H2SO4

MnO2

34. Which of the following metal oxide is white in colour but become

yellow on heating

A. 

B. 

C. 

AgO

ZnO

Ag2O

https://dl.doubtnut.com/l/_gpLV3F2sYeEP
https://dl.doubtnut.com/l/_qllTfMz2bsE0


D. 

Answer: b

View Text Solution

FeO

35. Chromyl chloride test is preformed for the detection of  A salt

solution containing  ion is heated with  and cone 

orange red vapour of are obatined .On passing these supour

through a soln of  a yellow ppt ,due to  is obtained if

these vapour are dissolve in  and acetin acid and lead acetate

solution is added then

A. The solution will remain colour less

B. The solution will become dark green

C. The solution will become brown

D. A yellow ppt will be obtained

Answer: d

CI Θ

CI Θ K2Cr2O7 H2SO4

Cr2CI2

NaOH Na2CrO2

H2O

https://dl.doubtnut.com/l/_qllTfMz2bsE0
https://dl.doubtnut.com/l/_1SvXsJ8nSuAU


View Text Solution

36. The chromyl chloride test responds pourly with the chlorides of

 so  but fail with the chlorides of

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

Pb, Ag Sn

Hg

As

Bi

Cu

37. When a salt is heated with dil  and  soin the pink

colour of  is dicharged the mixture may contain

A. Sulphite

H2SO4 KMnO4

KMnO4

https://dl.doubtnut.com/l/_1SvXsJ8nSuAU
https://dl.doubtnut.com/l/_gvxfoSfkFgyd
https://dl.doubtnut.com/l/_fPEiztIBQA6h


B. Carbonate

C. Nitrate

D. Bicarbotate

Answer: a

View Text Solution

38. Ring test for mirates conformed by acidifying prepared  soin a

brown ring is formed that to the formation of  This

rest should not be performed for nitrate ion in presence of

A. 

B. 

C. 

D. All

Answer: d

FeSO4

[Fe(H2O)3NO[SO4

NOΘ
2

BiΘ

I Θ

https://dl.doubtnut.com/l/_fPEiztIBQA6h
https://dl.doubtnut.com/l/_adAnQyNcXAPc


View Text Solution

39. Soda extract of a salt solution in acidified with excess of dil

 and  soin is added A white ppt insolable in 

 confurm of

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

CH2COOH CaCI2

CH3COOH

C2O
2 −
4

CO2 −
3

HCOΘ
3

S2O
2 −
3

40. When water is added to an excess soln of KJ in presence of 

 a violet colour is obtained .ON adding more of water the violet

CI2

CHCI3

https://dl.doubtnut.com/l/_adAnQyNcXAPc
https://dl.doubtnut.com/l/_2Fqeb8YorA4w
https://dl.doubtnut.com/l/_J8qkgKH66UP4


colour disatappears and a colourless sollution is obtained .The test

conform the presence of

A. 

B. 

C.  present

D.  and 

Answer: a

View Text Solution

I Θ

BrΘ

CI Θ

I Θ BrΘ

41. The first group reagent is dil HCI, which of the following do not belong

to group l?

A. 

B. 

C. 

Ag⊕

Pb2 +

Hg2 +
2

https://dl.doubtnut.com/l/_J8qkgKH66UP4
https://dl.doubtnut.com/l/_ZH2Ou5m7i7q6


D. 

Answer: d

View Text Solution

Cd2 −

42. Which of the following is not precipitate by  in presence of 

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

H2S NH3

Co2 +

Mn2 +

Fe3 +

Cd2 +

https://dl.doubtnut.com/l/_ZH2Ou5m7i7q6
https://dl.doubtnut.com/l/_bgIW7XMS5flL


43. A white ppt obtained in the anylsis of a mixture becomes black on

treatment with  it may be

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

NH4OH

Hg2CI2

HgCI2

PbCI2

AgCI

44. When excess of  is added to a soin of  a white ppt

turning gray is obtained the hrey colour is due to the formation of

A. 

B. 

C. 

SnCI2 HgCI2

Hg2CI2

SnCI4

Sn

https://dl.doubtnut.com/l/_UYgfwn8ut7cq
https://dl.doubtnut.com/l/_qa770GiTZkEJ


D. 

Answer: d

View Text Solution

Hg

45. A white ppt obtained in the analysis of a mixture becomes black on

treatment with  or  due to the formation of finely divided

Hg and Hg  i.e.  The salt may be

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

NH3 NH4OH

(NH2)CI [Hg + Hg(NH2)CI]

PbCI2

AgCI

Hg2CI2

Hg2CI2

https://dl.doubtnut.com/l/_qa770GiTZkEJ
https://dl.doubtnut.com/l/_vwR8Z3Y7p0Fg
https://dl.doubtnut.com/l/_L2PqicSaKswN


46. Which of the following ions will give a colourless aqeous solution

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

Ni2 +

Cu⊕

Cu2 +

Fe2 +

47. Which of the following is insoluble in dil 

A. 

B. 

C. 

D. 

HNO3

HgS

PbS

Bi2S3

CuS

https://dl.doubtnut.com/l/_L2PqicSaKswN
https://dl.doubtnut.com/l/_oMJG7bvm6kfG


Answer: c

View Text Solution

48. Which of the following sulphate is insoluble in 

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

H2O

CuSO4

PbSO4

CdSO4

Bi(SO4)3

49. Which one has the minimum solubility product ?

A. AgCI

https://dl.doubtnut.com/l/_oMJG7bvm6kfG
https://dl.doubtnut.com/l/_zQdqV7asUNCX
https://dl.doubtnut.com/l/_QOAfPkmLpWmK


B. 

C. 

D. 

Answer: a

View Text Solution

AICI3

BaCI2

NH4CI

50. When  is passed through an ammonium salt solutioon X is white

ppt is obtained .The X can be a

A. Cobalt salt

B. Zine salt

C. Nickel salt

D. Manganese salt

Answer: b

View Text Solution

H2S

https://dl.doubtnut.com/l/_QOAfPkmLpWmK
https://dl.doubtnut.com/l/_TVEh0KqXzxrf


51. With  ions  gives a ……..ppt of 

(Cupric ferro cyanide)

A. Blue

B. Green

C. chocolate

D. White

Answer: c

View Text Solution

Cu2 + [F (CN)6]
4 −

Cu2[Fe(CN)6]

52. With  ions  gives a ……..ppt of 

A. Blue

B. raddish brown

C. chocolate

Co2 + [F (CN)6]
3 −

Co3[Fe(CN)6]

https://dl.doubtnut.com/l/_TVEh0KqXzxrf
https://dl.doubtnut.com/l/_9dGMRseUQTQO
https://dl.doubtnut.com/l/_VR8HmF8lgv6N


D. Green

Answer: b

View Text Solution

53. With  ions  gives a ……..ppt of 

which is soluble in acelone`

A. Blue

B. Green

C. chocolate

D. raddish brown

Answer: a

View Text Solution

Co2 + NH4SCN (NH4)2[Co(CNS)4]

https://dl.doubtnut.com/l/_VR8HmF8lgv6N
https://dl.doubtnut.com/l/_2zoZQTeNjJut


54.  has been placed in groups I and II because

A. It shows the valency of one and two

B. It is partly soluble in 

C. It forms insoluble 

D. It from lead sulphide

Answer: b

View Text Solution

Pb

H2O

PnCI2

55. With ions  gives prussian blue colouration due to

the formation of ferri- ferro cyanide  white with 

 ion gives……. Colouration

A. Deep red

B. Blue

C. Brown

Fe3 + [Fe(CN)6]
4 −

Fe[Fe(CN)6]
2

NH4SCN, Fe3 +

https://dl.doubtnut.com/l/_iNlkvkyFgqkW
https://dl.doubtnut.com/l/_pSSwDUyIP9xd


D. Green

Answer: a

View Text Solution

56. A metal chloride on heating with  gives a yellow ppt

insoluble in acetic acid .The metal may be

A. Hg

B. Zn

C. Pb

D. Ag

Answer: c

View Text Solution

K2Cr2O7

https://dl.doubtnut.com/l/_pSSwDUyIP9xd
https://dl.doubtnut.com/l/_RHEW7KfDaMUi


57. With ions  ions gives …ppt

A. Blue

B. chocolate

C. raddish brown

D. Bluish white

Answer: d

View Text Solution

Zn2 + [Fe(CN)6]
4 −

58. Which one among the following pairs of ions cannot be seprated by

in dilate HCI ?

A. 

B. 

C. 

D. 

H2S

AI 3 + , Hg2 +

Zn2 + , Cu2 +

Bi3 + , Sn4 +

Ni3 + , Cu2 +

https://dl.doubtnut.com/l/_OPyu8AXaeuOm
https://dl.doubtnut.com/l/_Cq7uWEzTzN5z


Answer: c

View Text Solution

59. Which of the following pairs of ions would be expected to form

precipitate when dilute solution are mixed ?

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

Fe3 + , Pb3 −
4

NH Θ
4 , CO2 −

3

Na⊕ , SO4 −
4

Na⊕ , S2 −
2

60. Which one of the following can be used in place of  for

identification of the third group radicals?

Nh4CI

https://dl.doubtnut.com/l/_Cq7uWEzTzN5z
https://dl.doubtnut.com/l/_6WjMFxjLJRQI
https://dl.doubtnut.com/l/_iATBUK6U5ciM


A. NaCI

B. 

C. 

D. 

Answer: d

View Text Solution

(NH4)2SO4

(NH4)2CO3

NH4NO3

61. Cone  is added before proceeding to test for group II This is to

A. Convent  ion  ion

B. Oxidise any remaining 

C. From nitrate which give grandar precipitate

D. Increases ionisation of 

Answer: a

View Text Solution

HNO3

Fe+ 2 Fe+ 3

H2S

NH4OH

https://dl.doubtnut.com/l/_iATBUK6U5ciM
https://dl.doubtnut.com/l/_yIuM1cB9Ujgw


62. In IV th group the ppt of  in excess of  , turns brown

or blue in air due to the formation of

A. 

B. 

C. 

D. All

Answer: d

View Text Solution

Mn(OH)2 NaOH

MnO2. xH2O

MnO2

MnO2. H2O

63.  is not precipitate in group V because

A.  in soluble in 

B.  in soluble in 

C.  in soluble in 

Mg

MgCO3 H2O

MgCO3 NH4CI

MgCO3 NH4OH

https://dl.doubtnut.com/l/_yIuM1cB9Ujgw
https://dl.doubtnut.com/l/_GpgCV4v4WHfe
https://dl.doubtnut.com/l/_3f22xKKPK9Zj


D. All

Answer: b

View Text Solution

64. In group V ,  is added to precipitate out the carbonate 

 is not added because

A.  is soluble in 

B.  will be ppt out in group V

C.  increases the solublity of group V carbonates

D. All

Answer: d

View Text Solution

(NH4)2CO3

Na2CO3

CaCO3 NaCO3

MgCO3

Na2CO3

https://dl.doubtnut.com/l/_3f22xKKPK9Zj
https://dl.doubtnut.com/l/_BOmlHxpXEGCi


65. DMG gives a rosy red crystalline ppt with

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

Zn2 +

Ni2 +

Cu2 +

Mn2 +

66.  in the presence of HCI precipitates group II radicals but not of

the group IV because

A. HCI activate 

B. HCI increses cone of  due to common ion effect

C. HCI decreses cone of  due to common ion effect

D. HCI lowers the solubility of in soin

H2S

H2S

CI Θ

S2 −

H2S

https://dl.doubtnut.com/l/_u8GYheXQMryD
https://dl.doubtnut.com/l/_y01vxMoymIAI


Answer: c

View Text Solution

67. Prussian's blue is formed when  ions are added to 

 Turnbull's blue is

A. 

B. 

C. 

D. All

Answer: a

View Text Solution

Fe+ 2

K4[Fe(CN)6]
2

Fe4[Fe(CN)6]
3

Fe3[Fe(CN)6]
2

Fe2[Fe(CN)6]

68. Turnbull's blue is formed when  ions are added to 

 Turnbull's blue is

Fe+ 2

K3[Fe(CN)6]
2

https://dl.doubtnut.com/l/_y01vxMoymIAI
https://dl.doubtnut.com/l/_X7Yrsu49FxAB
https://dl.doubtnut.com/l/_yeLlf0QGicvg


A. 

B. 

C. 

D. All

Answer: b

View Text Solution

Fe4[Fe(CN)6]
3

Fe3[Fe(CN)6]
2

Fe2[Fe(CN)6]

69. If group IV the ppt of  dissolve in excess of  due to

the formation of

A. 

B. 

C. 

D. 

Answer: a

Zn(OH)2 NaOH

Na2ZnO2

NaZnO2

Zn

Na3ZnO2

https://dl.doubtnut.com/l/_yeLlf0QGicvg
https://dl.doubtnut.com/l/_4sNT5I2xm0lE


View Text Solution

70.  water in  soin .Oxidises  to a…. Ppt due to the

formation of 

A. Black

B. violet

C. Blue

D. white

Answer: a

View Text Solution

Br2 NaOH Mn(OH)2

MnO(OH)2

71. Brown ppt ,of  on boiling with  and cone 

yields a pink colouration on dilution due to the formation of

A. 

MnO(OH) PbO2 HNO3

HMnO4

https://dl.doubtnut.com/l/_4sNT5I2xm0lE
https://dl.doubtnut.com/l/_RxIJY1fWlluh
https://dl.doubtnut.com/l/_MHOMrhQYfgWS


B. 

C. 

D. 

Answer: a

View Text Solution

H2MnO4

Pb(MnO4)2

PbMnO3

72. A precipitate of ……would be obtained on adding HCI to a solution of

 in yellow ammonium salphide

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

As2S3

As2S3

As2S3

AsS

AsS2

https://dl.doubtnut.com/l/_MHOMrhQYfgWS
https://dl.doubtnut.com/l/_0GMJgpz4mjI9


73. A precipitate of ……would be obtained on adding HCI to a solution of

 in yellow ammonium salphide

A. SnS

B. 

C. 

D. 

Answer: c

View Text Solution

Sns

Sn2S3

SnS2

(NH4)2SnS2

74. Which of the sulphides of group II is orange ?

A. CuS

B. CdS

C. As2S3

https://dl.doubtnut.com/l/_0GMJgpz4mjI9
https://dl.doubtnut.com/l/_ErkVStuj1Bw7
https://dl.doubtnut.com/l/_PU6zlkrpUrhK


D. 

Answer: d

View Text Solution

Sb2S3

75. Which of the sulphides of group II is black or brownish black?

A. PbS

B. HgS

C. 

D. 

Answer: d

View Text Solution

Bi2S3

CdS or As2S3

https://dl.doubtnut.com/l/_PU6zlkrpUrhK
https://dl.doubtnut.com/l/_inOqDP8scdt4


76. Sometimes yellow turbidity appears white passing  gas even in

the group II radicals .This is because of

A. Sulphate is present in the mixture as limpurity

B. Group IV radicals are precipitate as sulphides

C. The oxidation of  gas by some acid radicals

D. Group II radicals are precipitate as hydroxides

Answer: c

View Text Solution

H2S

H2S

77. An inorganic substance gives balck ppt in group II which is dissolve in

aqua regain Evapotate off aqus regain and dilute it with water .To this

few drop of ammonium thiocyanate and sodium acelete followed by

 are added .A deep blue colour or ppt .is obtained .This is due

to presence of

Co(NO3)2

https://dl.doubtnut.com/l/_hCXPtJ0sGwsQ
https://dl.doubtnut.com/l/_sx3rhXrYJg4F


A. 

B. 

C. 

D. 

Answer: a

View Text Solution

Hg2 +

Bi3 +

Pb2 +

Cd2 +

78. The sodium carbonate beat test in which  is used insteal of

borax .it is suitable to chromium and

A. Mn

B. Cu

C. Fe

D. Ni

Answer: a

Na2CO3

https://dl.doubtnut.com/l/_sx3rhXrYJg4F
https://dl.doubtnut.com/l/_1UbrMRlzdWbE


Viva Voce Questions And Part-A (Analysis Of Anions)

View Text Solution

79. Orange coloured sodium cobaltinitrite  is used for

the detection of  which gives …… ppt due to the formation of pot sod

cobaltinitrite 

A. White

B. Orange

C. Yellow

D. Brown

Answer: c

View Text Solution

Na3[Co(NO3)6]

K Θ

K2Na[Co(NO2)6]

1. What is a group reagent ?

https://dl.doubtnut.com/l/_1UbrMRlzdWbE
https://dl.doubtnut.com/l/_iZXP3sZpLTnE
https://dl.doubtnut.com/l/_3WQPioxeY0vw


View Text Solution

2. Why sodium corbonate extract is used for testing acid radicals?

View Text Solution

3. Can we use sodium bicarbonate in place of sodium carbonate in

preparing an extract for detection of anions?

View Text Solution

4. Why is sodium carbonate extract acidified before perfoming the

confirmatory tests for anions?

View Text Solution

5. Can sodium carbonate extract be used test for  ions ?CO2 −
3

https://dl.doubtnut.com/l/_3WQPioxeY0vw
https://dl.doubtnut.com/l/_87wWFXRcMNAC
https://dl.doubtnut.com/l/_veQMaxATSVeD
https://dl.doubtnut.com/l/_ZsPsesiBDh47
https://dl.doubtnut.com/l/_qYqYv066tq8M


Watch Video Solution

6. What is lime water?

View Text Solution

7. Why does lime water turns milky on bubbling  gas through it?

View Text Solution

CO2

8. Name the anions whch giive brown fumes on reacting with dilute/conc.

View Text Solution

H2SO4

9. Why does a paper soaked in  solution turn green in the

detection of  ion?

K2Cr2O7

SO2 −
3

https://dl.doubtnut.com/l/_qYqYv066tq8M
https://dl.doubtnut.com/l/_JbsYB4kARPYs
https://dl.doubtnut.com/l/_LIslkesGUSTI
https://dl.doubtnut.com/l/_if8nwnawUWDm
https://dl.doubtnut.com/l/_JoxgMVlyQNr9


View Text Solution

10. Can filter paper dipped in silver nitrate solution instead of lead

acetate paper be used for testing a sulphide?

View Text Solution

11. A gas evolved with effervescence on treating a salt with dil. HCl may be

 or . How will you distinguish between them?

View Text Solution

CO2 SO3

12. How will you distinguish between carbonate and bocarbonate ions?

View Text Solution

13. How can sulphide ions be distinguished from sulphite ions?

Vi T t S l ti

https://dl.doubtnut.com/l/_JoxgMVlyQNr9
https://dl.doubtnut.com/l/_OHfGzkR7wqlk
https://dl.doubtnut.com/l/_yi2DzlIrPDts
https://dl.doubtnut.com/l/_LENFtOwFl1YT
https://dl.doubtnut.com/l/_hwZGrAkCwSkg


View Text Solution

14. How will you distinguish betweebn sulphate and thiosulphate ions?

View Text Solution

15. How will you distinguish between sulphite and sulphate ions?

View Text Solution

16. How can nitrite ion be distinguished from nitrate ion?

View Text Solution

17. What is the formula of compound present in brown ring?

View Text Solution

https://dl.doubtnut.com/l/_hwZGrAkCwSkg
https://dl.doubtnut.com/l/_sPIW7gOC7mJd
https://dl.doubtnut.com/l/_XL4gxZ4mga2w
https://dl.doubtnut.com/l/_zZogY9sNjpdG
https://dl.doubtnut.com/l/_usEesgYJWRXs
https://dl.doubtnut.com/l/_xetVxPrHJpUH


18. Why is a freshly prepared solution of  used for the detection of

nitrate and nitrite?

View Text Solution

FeSO4

19. Why does only the organic layer assure colour and not the aqueous

layer when the tests for halides are done?

View Text Solution

20. What happens when chloride, bromide and iodide are separately

heated with conc. ?

View Text Solution

H2SO4

21. How do you distinguish between  and  ions?

View Text Solution

Br ɵ NO
ɵ

3

https://dl.doubtnut.com/l/_xetVxPrHJpUH
https://dl.doubtnut.com/l/_O20RRd7EHWNn
https://dl.doubtnut.com/l/_hiGB9pudiouX
https://dl.doubtnut.com/l/_yUMpWmkw15af


22. Given salt is a bromide or iodide. How will you identify it by treating

the salt with chlorine water and ?

View Text Solution

CS2

23. Why does the chromyl chloride test fail with  and ?

View Text Solution

Br ɵ I ɵ

24. For testing  with  solution why should sodium carbonate

not be acidified with too much of conc. HCl.

View Text Solution

SO
2 −
4 BaCl2

25. Can any other reagent in place of limwe water be employed for

identification of  gas?

View Text Solution

CO2

https://dl.doubtnut.com/l/_EvkkTfcL6oS0
https://dl.doubtnut.com/l/_83BElPwLURSW
https://dl.doubtnut.com/l/_zTm5YA4aqB5N
https://dl.doubtnut.com/l/_Wbec6FJoWgYn


26. At times the solution of lime water appears milky. Comment.

View Text Solution

27. Name the gas other than  which also turns lime water milky.

View Text Solution

CO2

28. Why is it necessary to test for the acid redicals first (with dilute)

 and then with conc. ?

View Text Solution

H2SO4 H2SO4

29. What is chromyl chloride test? Why is it so named?

View Text Solution

https://dl.doubtnut.com/l/_Wbec6FJoWgYn
https://dl.doubtnut.com/l/_pXGHMCwoIkjS
https://dl.doubtnut.com/l/_jNaXp4HleeZj
https://dl.doubtnut.com/l/_uXwQcTfu3Oyb
https://dl.doubtnut.com/l/_dK2zM9WorQcC
https://dl.doubtnut.com/l/_BXiWUejb61OJ


Viva Voce Questions And Part-B (Dry Tests)

30. Sodium carbonate extract is acidified with  only in the

identification of halides. Comment.

View Text Solution

HNO3

1. Why do salts of the following ions 

and  impart colour to the flame?

View Text Solution

Cu2 + , Ba2 + , Sr2 + , Ca2 + , Na⊕

K ⊕

2. Why is HCl employed in flme test?

View Text Solution

3. What type of flame is employed to perform the flame test? How is it

obtained?

https://dl.doubtnut.com/l/_BXiWUejb61OJ
https://dl.doubtnut.com/l/_l6t04b8rJZPl
https://dl.doubtnut.com/l/_xKC93AJdCRJJ
https://dl.doubtnut.com/l/_7DYayypAPeKY


View Text Solution

4. Why is a green flame not obtained in the case of barium sulphate or

phosphate?

View Text Solution

5. Can we perform the charcoal cavity test without the addition of fusion

mixture  and  with the carbonate of metals?

View Text Solution

(Na2CO3 K2CO3)

6. Why do we not perform borax bead test with the white salt?

View Text Solution

https://dl.doubtnut.com/l/_7DYayypAPeKY
https://dl.doubtnut.com/l/_thO70SJYaBje
https://dl.doubtnut.com/l/_j35i3RhO2Olv
https://dl.doubtnut.com/l/_8fd1suPf5m4X


Viva Voce Questions And Part-C (Analysis Of Cations)

7. What is the composition of the bead obtained when borax is neated in

the flame?

View Text Solution

8. Why is a small quantitiy of mixture used in the borax beat test?

View Text Solution

9. Name the cations which can be identified by flame test.

View Text Solution

1. Why is it necessary to prepare original solution for the detection of

basic radicals?

https://dl.doubtnut.com/l/_dXr7VKXSqbDv
https://dl.doubtnut.com/l/_TztFZUzfAMDh
https://dl.doubtnut.com/l/_bJP0cDmIsdnO
https://dl.doubtnut.com/l/_TMAGRUHcYSg9


View Text Solution

2. Why do we not prefer to prepare original solution in conc.  or

conc. ?

View Text Solution

H2SO4

HNO3

3. What is solubility product? Explain its importance in qualitative

analysis.

View Text Solution

4. What is the basis of classification of cations into different group ?

View Text Solution

5. Why are only  and  ions precipitated in group I?Pb2 + , Ag⊕ Hg2 +
2

https://dl.doubtnut.com/l/_TMAGRUHcYSg9
https://dl.doubtnut.com/l/_aEbZSa4rzEwe
https://dl.doubtnut.com/l/_LwVFIvM3dejD
https://dl.doubtnut.com/l/_vmgq41Q0hnWj
https://dl.doubtnut.com/l/_yDEPYW7xy9TJ


View Text Solution

6. Why is lead plaed in gourp I as well in II?

View Text Solution

7. Is it necessary to acidify a solution before group II cations are

precipitated with ?

View Text Solution

H2S

8. Give the reason for the formation of a light yellow or white ppt. in the

group II even if it may not be because of some metal ion.

View Text Solution

9. Why do we Prefer HCl for preparing solution of cations?

Vi T t S l ti

https://dl.doubtnut.com/l/_yDEPYW7xy9TJ
https://dl.doubtnut.com/l/_xgGzLJanLSDD
https://dl.doubtnut.com/l/_0Ck6dMj3uj55
https://dl.doubtnut.com/l/_oSB8F22aPJ6y
https://dl.doubtnut.com/l/_niJHnjrsG5Lh


View Text Solution

10. Is it advisable to use conc. HCI in place of dilute HCI for preparing

original solution

View Text Solution

11. Why is it essential to boil off  gas before proceeding to group III

View Text Solution

H2S

12. Can the solution be acidified with  in group II before passing 

 gas?

View Text Solution

HNO3

H2S

13. What can it be, if the precipitate of group I is soluble in hot water and

insoluble in cold water?

https://dl.doubtnut.com/l/_niJHnjrsG5Lh
https://dl.doubtnut.com/l/_vAHSC1hHZVap
https://dl.doubtnut.com/l/_4vnjfk0Attx2
https://dl.doubtnut.com/l/_y4v9ZQPvteUO
https://dl.doubtnut.com/l/_e7rM8h9IRiUa


View Text Solution

14. Why is  never employed for preparing original solution for the

identification of cations?

View Text Solution

H2SO4

15. Group I filtrate is made moderately acidic before proceeding to group

II. Expain.

View Text Solution

16. What is the

View Text Solution

https://dl.doubtnut.com/l/_e7rM8h9IRiUa
https://dl.doubtnut.com/l/_Me9H97jrKkGr
https://dl.doubtnut.com/l/_588A6oykvvpm
https://dl.doubtnut.com/l/_7ro9QLCuVbcB


17. Why do we add excess of  and  in the precipitation of

group III cations?

View Text Solution

NH4Cl NH4OH

18. Why is it essential to oxidise ferrous salt to ferric salt in group III?

View Text Solution

19. Can  be replaced by any other ammonium salt for the

precipitation of group III cations?

View Text Solution

NH4Cl

20. How will you distinguish between ferrous and ferric salts?

View Text Solution

https://dl.doubtnut.com/l/_ARTWC28qubhd
https://dl.doubtnut.com/l/_gi4tHnU8iwqP
https://dl.doubtnut.com/l/_5T2s9XMm5tvj
https://dl.doubtnut.com/l/_8cAwa6erfidw
https://dl.doubtnut.com/l/_JxEQpaB4xg29


21. Can we add  first and  later in the analysis of group III

cations?

View Text Solution

NH4OH NH4Cl

22. Can we use NaCla and NaOH in place of  and  in the

group III cation precipitation.

View Text Solution

Na4Cl NH4OH

23. Why are Zn,MnNi,Co not precipitated n the group III as hydroxides?

View Text Solution

24. Why are the group IV cations not precipitated as sulphides on passing

 gas through group II solution?

View Text Solution

H2S

https://dl.doubtnut.com/l/_JxEQpaB4xg29
https://dl.doubtnut.com/l/_4e5qMKSaJvDR
https://dl.doubtnut.com/l/_aPMcDmPXBCct
https://dl.doubtnut.com/l/_npr3Qpqnpwk1


25. Why is a brownish ppt. obtained in group II even if iron aluminium and

chromium are absent?

View Text Solution

26. Why sometimes, a black coloured precipitate obtained in group IV

even if nickel and cobalt ions are absent?

View Text Solution

27. Why excess of  is used in precipitating the sulphides of

group IV cations?

View Text Solution

NH4OH

28. Why sometimes colloidal precipitate is obtained in group IV?

Comment

https://dl.doubtnut.com/l/_npr3Qpqnpwk1
https://dl.doubtnut.com/l/_dnVy6o3KBtpu
https://dl.doubtnut.com/l/_Ooys0u7ixjyK
https://dl.doubtnut.com/l/_IqS62LaKbskN
https://dl.doubtnut.com/l/_t017IqrwyBoC


View Text Solution

29. Why is  essential in the precipitation of group V cations?

View Text Solution

NH4Cl

30. Does the excess of  affect the precipitation of group V cations

by 

View Text Solution

NH4Cl

(NH4)2CO3 ?

31. Why are all aqueous solution of the cobaltous salts pink?

View Text Solution

32. At times  is added before adding  to precipitate

group V cations explain.

NH4OH (NH4)2CO3

https://dl.doubtnut.com/l/_t017IqrwyBoC
https://dl.doubtnut.com/l/_rUkTg1YCLduj
https://dl.doubtnut.com/l/_SFxd1G9xnjbu
https://dl.doubtnut.com/l/_cmNyhVGvYrqQ
https://dl.doubtnut.com/l/_EqyfL5WEOYRZ


View Text Solution

33. How will you remove the excess of  before adding 

for the precipitation of group?

View Text Solution

NH4Cl (NH4)2CO3

34. Why is  not precipitated on adding ammonium sulphate to a

solution containing  and  ions?

View Text Solution

CaSO4

Ca2 + Sr2 +

35. At times warming is suggested while precipitating group V cation

explain.

View Text Solution

https://dl.doubtnut.com/l/_EqyfL5WEOYRZ
https://dl.doubtnut.com/l/_C2glpXzobPmg
https://dl.doubtnut.com/l/_VdVmTA4xwRm7
https://dl.doubtnut.com/l/_0td6s0MvT7ob


36. Can we use  in place of  in group V?

View Text Solution

NaCO3 (NH4)2CO3

37. Why do we test group V cations in the order of Ba, Sr, and Ca?

View Text Solution

38. Why is only acetic acid employed for dissolving the group V ppt.

View Text Solution

39. Sometimes no precipitate is obtained even if group V radicals are

present why ?

View Text Solution

https://dl.doubtnut.com/l/_YgQpzyS5cIfh
https://dl.doubtnut.com/l/_XFSAQOvLOsjz
https://dl.doubtnut.com/l/_Dw7lhTAJHXUv
https://dl.doubtnut.com/l/_bSi4xSX2Yt3G


40. Calcium oxalate is soluble in dilute HCl. Explain.

View Text Solution

41. Why is a precipitate of magnesium carbonate not fomred along with

the carbonates of Ba, Sr and Ca in group V?

View Text Solution

42. At time a white ppt. is obtained in group VI even in the absence of Mg.

explain.

View Text Solution

https://dl.doubtnut.com/l/_4UAQvwPc2ztC
https://dl.doubtnut.com/l/_7gn0USC4fwGj
https://dl.doubtnut.com/l/_um3sbOY5gGOT

